Office of The Principal



GOVT. COLLEGE BARPALI DIST-KORBA (C.G.)

Website: www.govtcollegebarpali.in/E- mail ID: col-barpali.cg@gov.in govtcollegebarpali3107@gmail.com

Mob: 8234062065 College Code No. 3107

English Translated Version of Latter Dated: - 11.01.2018

Sl.No./575/Estb./2018

To,

The Assistant Commissioner, Tribal Development, Korba Dist.-Korba (C.G.)

Subject:- 'Remittance of KYC and scholarship order.'

It is to mention regarding above that KYC and scholarship order of schedule caste. Schedule Tribal and other Backward category students of this college of session 2017-18 for your needful.

Encloses: - As above

प्राचार्य शासकीर्व महाविद्यालयां वरपाली महाविद्यालयां करणे महाविद्यालयां करणे Principal

Barpali, Dated :- 11.01.2018

Govt. College Barpali Dist- korba (C.G.)

कार्यालय प्राचार्य,



शासकीय महाविद्यालय, बरपाली

जिला - कोरबा (छ.ग.)

Ph.no., 07759-279222, Fax.no.: 07759-27922, o-mail: govtcollegebarpali@yahoo.com



कमांक / 575 / एथा. / 2017

बरपाली, दिनांक 11/01/2019

प्रति.

चहायक आयुक्त, आदिवासी विकास कोरबा जिला - कोरबा छ.ग.

विषय :--KYC एवं छात्रवृत्ति आदेश का प्रेषण।

---0000000---उपर्युक्त विषयांतर्गत लेख है कि इस महाविद्यालय के वर्ष 2017. 18 के अनुसूचित जाति, अनुसूचित जनजाति एवं पिछडा वर्ग के प्रवेशित छात्र/छात्राओं की छात्रवृत्ति आदेश एवं KYC आवश्यक कार्यवाही हेतु आपकी ओर प्रेषित है।

संलग्न - उपरोक्तान्सार

जिकाश्याकार्यम् (ध्रनः १)।

Govt. College, Barpali Distt. - KORBA (C. G.)



Sanction Register for Scholarship 70 19 18

गवना ११२०।

Post Matric SC Scholarship Scholarship Scheme:

Government of Chhattisgarh

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/1/9/80585

01/01/2018

Sanction Date:

Applications Type: Renewal

	Mile Malacina			Month		lowance				
294700 Brijesh Kumar Khandey	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
707595 PRIYANKA - CHAUHAN	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
722757 anjani tandan	Female	B. Com./Commerce/III	Renewal	10	300	3000	0	2011	2011	5011
746055 Sarita Choukse	Female	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
1252282 MURLIDHAR ADILE	Male	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
758027 Sharda Chauhan	Female	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
701382 Divya dhairya	Female	B. Com./Commerce/III	Renewal	10	300	3000	0	2011	2011	5011
755597 Sanjay Kumar	Male	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
756245 Avinash Kumar Sonwani	Male	B. Com./Commerce/III	Renewal	. 10	300	3000	0	2011	2011	5011
757107 Suniti Khunte	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
757953 Shraddha Chauhan	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
757969 Shraddha Devi	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
756077 MANISH KUMAR	Male	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
768330 Sunita kosley	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
1030933 PRADEEP KUMAR OO	Male	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
1122382 SULOCHANA NO SURNAME	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
1124057 AKSHAY KUMAR KHUNTE	Male	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	1

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ... as tuition and other fees. Printed copy of online any regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...Out of which Rs......as maintenance allowance and Rs. ... serial no. 1 to I do here by sanctioning a sum of Rs.

Gow. College, Barpa

Page 1/4 Distt. - KORBA (C. G.)

(Signatur PRINGIPALed of the Institution) GOVT: CODITOR BARPALI DASTT-KORBA (C.G.) This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

Juster for Scholarship

of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme:

SC Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/1/9/80585

Sanction Date: 01/01/2018

Application to Same and Application	THE PROPERTY OF THE PARTY OF TH	の大学の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の	STATISTICS AND ADDRESS OF THE PERSONS							
augu Tibonio	Sender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Tuition Fee Other Fee	Total Fee	Total Amount
990269 CHANDRASHIKHA Nosurname	: Female	B. Sc./Science/II	Renewal	10	300	2000	THE STREET			
1194629 KANCHAN BANJARE	Female	B. Sc./Science/III	Danada		000	2000	0	2011	2011	5011
1226468 RAVI KUMARI	Female	B A /Arts/II	Posterior	OT	300	3000	0	2011	2011	5011
1227472 POONAM NIDHI		The who is	Kenewai	10	300	3000	0	2011	2011	5011
TUDIN LINDUS	remale	B. A./Arts/II	Renewal	10	300	3000	C	2011	3044	101
1152737 BEBI LATA	Female	B. Sc./Science/III	Renewal	10	300	3000		1102	1102	5011
1227493 ANUPAMA MANHARE	Female	B. A./Arts/II	Renewal	01	2000	0000		1107	2011	5011
1231973 MADHU AADILE	Female	B. Sc./Science/III	Renewal	01	000	3000	0	2011	2011	5011
1243328 AAKASH KOSHLE	Male	B. Com./Commerce/II	Donound	07	300	3000	0	2011	2011	5011
1243449 JYOTI KHANDE	Female	R Sc /Science/II	No. in contract of	TO	300	3000	0	2011	2011	5011
1230771 DIGVIDAY SINGH	Male	B Cc /Colonce/TT	Keriewal	10	300	3000	0	2011	2011	5011
1243602 PANCHMESHWART KHANDE	Fomolo	b. 3c./3delice/II	Kenewal	00	300	2400	0	2011	2011	4411
1246C72 DEMA MINADE	Leiligie	b. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
ASTONIA NOMBRI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	
1252203 SHASHI KIRNA	Female	B. Sc./Science/III	Renewal	10	300	0000		1107	1102	2011
1243558 NANDANI KHANDE	Female	B. A./Arts/II	Renewal	100	300	2000	0	2011	2011	5011
1254375 SURESH KUMAR	Female	B. Com./Commerce/II	Renewal	101	200	3000	0	2011	2011	5011
1264749 SAROJ KUMAR	Male	B. A./Arts/III	Renewal	01	2000	2000	0	2011	2011	5011
1260910 APARNA KUMARI	Female	B. A./Arts/II	Renewal	21 0	000	3000	0	2011	2011	5011
1270006 NAOMEE MAHESHWART	Formal	D A /A de /TT	in the second	TO	300	3000	0	2011	2011	5011
5	Callaic	B. A./AIIS/II	Renewal	10	300	3000	-	2011	,,,,,,	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...Out of which Rs.....as maintenance allowance and Rs. serial no. 1 to I do here by sanctioning a sum of Rs.

Place:

Date:

2

Govt. College, Bernalt

This Sanction is generated by Scholarship Portal, Printed on 1/1/2018 DISTT-KORBA (C.G.)

(Signature &PRINCHAL of the Institution)

GOVETCOUDILEGE) BARPALI

Page 2/4

or Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Institute Name: GOVT. COLLEGE BARPAL!

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/1/9/80585

Sanction Date: 01/01/

Female B. A./Arts/III Renewal 10 300 Allowance Other Fee Total Fee Total Fee Total Fee Total Fee Total Fee Total Aministration Total Aministration Allowance Allowance Inition Fee Other Fee Total Fee	Student Name	Gender	er Course		新工作的复数印度的基本的		Applicat	Applications Type: Renewal	awai	
Female B. A./Arts/III Renewal 10 300 0. 2011	1270171 SUSHMA KHANDE	Formal			Month		AL PRODUCTION OF THE PERSON NAMED IN	Reactive .	新	and the state of t
Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 Female B. S.C/Science/III Renewal 10 300 3000 0 2011 2011 Female B. S.C/Science/III Renewal 10 300 3000 0 2011 2011 R Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 R Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 501 Male B. A./Arts/III Renewal 10 300 3000 0	1270316 POOJA KUMARI	ם כוום	1	Renewal	10		ce la		DETRI	orell Amo
Female B. Sc,/Science/III Renewal 10 300 3000 0 2011 2011 Female B. Sc,/Science/III Renewal 10 300 3000 0 2011 2011 Remale B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 5 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011	1270653 SUMAN TANDAM	remale	B. A./Arts/II	Renewal	10	2000	3000		2011	No.
Remaile B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Raiele B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 5011 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 501 Male B. Com./Commerce/III Renewal 10 300 0 2011 2011<	1270390 MADHIDT CLO.	Female	B. Sc./Science/II	Renewal	0.	300	3000	0 2011	2011	
R Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 5 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 5 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Female B. Com./Commerce/III Renewal 10 300 300	1280452 PTMA CHOUHAN	Female	B. Sc./Science/III	Renewal	07	300	3000	0 2011	2011	
R Female B. A,Arts/II Renewal 10 300 300 0 2011	2200432 KIMA KUMARI	Female	B. A./Arts/III		10		3000	0 3011		
Male B. A./Arts/III Renewal 10 300 300 2011 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Female B. Com./Commerce/II Renewal 10 300 2011 2011 5 Female B. Com./Commerce/II Renewal 10 300 2011 2011 5<	1288089 ANNAPURNA DIWAKAR	Famala	Ti/Carland	Renewal	10	-	2000	1107	2011	
Male B. A./Arts/II Renewal 10 300 300 0 2011 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 201	1295359 RAVI KUMAR	District of the second	b. A./Arts/II	Renewal	10		0000	0 2011	2011	
Male B. A./Arts/II Renewal 10 300 300 0 2011 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Male B. Sc./Science/II Renewal 10 300 201	280376 AMAN KI IMAP MIDEL	Male	B. A./Arts/II	Renewal	10		0000	0 2011	2011	-
Male B. A./Arts/II Renewal 10 300 300 0 2011 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 5 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 5 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 5 Male B. Sc./Science/II Renewal 10 300 201 2011 5011 5	2111CO CAN NOTICAR MIREE	Male	B. A./Arts/II	Donoural	70		000	0 2011	2001	
Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 Male B. Sc./Science/III Renewal 10 300 3000 0 2011 2011	311169 MAHESH KUMAR MIREE	Male	B A /Arts/TT	reliewal	10		000	1	1107	5
Male B. A./Arts/II Renewal 10 300 300 0 2011 2011 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 2011 Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 2011 Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 2011 Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Sc./Science/II Renewal 10 300 300 0 2011 2011	301804 MADHULATA BAGHEL	Fomela	11/51/11 5	Renewal	10		000	7011	2011	5
Male B. A./Arts/II Renewal 10 300 300 0 2011 2011 Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 Male B. Sc./Science/II Renewal 10 300 3000 0 2011 2011	379943 KISHAN KUMAR	200	b. A./Arts/II	Renewal	10	-	000	2011	2011	5
Female B. A./Arts/II Renewal 10 300 300 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 Male B. Sc./Science/II Renewal 10 300 3000 0 2011 2011	96710 CUEETS & MANUAL M	Male	B. A./Arts/II	Renewal					2011	-
Male B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 2011 Male B. Sc./Science/II Renewal 10 300 3000 0 2011 2011	SOUTH SHEEL LA KUMARI	Female	B. A. /Arte/III		10					0
Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Sc./Science/II Renewal 10 300 300 0 2011 2011	379871 KHEM RAJ CHAUHAN	Male	11/02/20	Renewal	10	-			2011	S
Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 Male B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Sc./Science/II Renewal 10 300 300 0 2011 2011	105103 RUPENDRA KLIMAD	Ligic	B. Com./Commerce/II	Renewal	10	-	and the second second		2011	2
Male B. Com,/Commerce/II Renewal 10 300 300 0 2011 2011 Female B. Com,/Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Sc,/Science/II Renewal 10 300 300 0 2011 2011	SOOT THE PROPERTY	Male	B. A./Arts/III	Danami	24		0 000	2011	2011	
Female B. Com./Commerce/II Renewal 10 300 300 0 2011 2011 Male B. Sc./Science/II Renewal 10 300 300 0 2011 2011	95904 LAXMI KUMAR MIREE	Male	B Com Comme	IPMAILEMAI	10		00		71107	20
School S	08877 BAMLESHWARI KUMARI	Formalo	com/commerce/II	Renewal	10	-	000	2011	2011	5011
Male B. Sc./Science/II Renewal 10 2011 2011	42327 DILESHWAR DIWAKAD	Cilidic	B. Com./Commerce/II	Renewal	10	-	0	2011	2011	50
	NAME OF THE PERSON OF THE PERS	Male	B. Sc./Science/II	Renewal	0,	-		2011	2011	2

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certifled that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

5011

2011

2011

0

Govt. College, Barpali DISH. - KORBA (C.

PRINCIPAL

MSTT-KORBA (C.G.)

GOVP: TEGGEDE BELBARPAL!

(Signat BRING IP Adhead of the Institution)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

Date :

of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme:

Category: SC

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

5

Government of Chhattisgarh State:

R/7/1073/1/9/80585 Sanction Number:

Sanction Date: 01/01/2018

Applications Type: Renewal

	259972
	104572
	1045/2
0	0
155400	DOLLCCT
Total	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periport is detected.Out of which Rs......as maintenance allowance and Rs. ...

Place:

Date:

Govt. College, Barpali DISH. - KORBA IC. G.

(Signature RESEA FALE of the Institution)
COVT OCICIE RESEARCH

÷

PRINCIPAL

Sanction Register for Scholarship

Government of Chhattisgarh

Post Matric ST Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh R/7/1073/2/7/80567 State: Sanction Number:

01/01/2018

Sanction Date:

Applications Type: Renewal

Application 1D Student Name	Gender	Course	Type	No. of Month	Rate Maintene	a uce	Tuition Fee	Other Fee	Total Fee	Total Amount
279620 RAJENDRA SINGH KANWAR	Male	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
291985 RITA KUMARI KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	COL
297307 Manish Kumar Binjhwar	Male	B. Com./Commerce/III	Renewal	10	300	3000	0	2011	2011	2011
298022 Virendra Singh Binjhwar	Male	B. Com./Commerce/III	Renewal	10	300	3000	0	2011	1102	1100
242254 JAMUNA KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	1105
298582 Ramayan Singh Binjhwar	Male	B. Sc./Science/III	Renewal	10	300	3000		2011	1102	100
427358 SHYAM BAI KANWAR	Female	B. Com./Commerce/III	Renewal	10	300	3000	0	2011	2011	2011
710132 BHARTI KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	2011
733243 SANJAY SINGH	Male	B. A./Arts/III	Renewal	10	300	3000	0 0	2011	1102	1100
735664 HEERA BAI KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0 0	2011	1102	1706
735675 SUSHILA KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	2011	1102	1100
736460 ASHRITA KUMARI KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	0 0	2011	1102	1100
339812 Sima Kumari Kanwar	Female	B. A./Arts/II	Renewal	10	300	3000	0	2011	1102	100
739086 ASHWANI KUMAR KANWAR	Male	B. A./Arts/III	Renewal	10	300	3000	0	2011	1102	1100
738862 PADMAWATI - GOND	Female	B. Com./Commerce/III	Renewal	10	300	3000	0	2011	1102	100
739148 BHUNESHWAR - BINJHAWAR	Male	B. A./Arts/III	Renewal	10	300	3000	0.0	2011	1102	2011
754432 Aashish Kumar Binjhwar	Male	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	1100

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the .as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs. ..

Place:

Date:

Govt, College, Barpa

PRINCIPAL

Distt. - KORBA (C. G.)

(Signatur PRINGIRABad of the Institution) GOVETH-KORBA (C.G.)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

nent of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

GOVT. COLLEGE BARPALI Institute Name :

Academic Year: 2017 - 18

Government of Chhattisgarh State:

2

Sanction Number: R/7/1073/2/7/80567

2299 SchwaleETA KAWARA Female B. Sc./Science/III Renewal 10 300 300 0 2011 7011 2299 Schwale ETA KAWARA Female B. Sc./Science/III Renewal 10 300 0 2011 2011 2299 Schwall Kumari Sidar Female B. Sc./Science/III Renewal 10 300 0 2011 2011 2299 Schwall Kumari Sahwar Female B. Sc./Science/III Renewal 10 300 0 2011 2011 266 Krist Almari Sahwar Female B. Sc./Ascience/III Renewal 10 300 3000 0 2011 2011 550 Krist Kumari Sahwar Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 551 Arritina Sahwar Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 551 Arritina Sahwar Female B.	Application ID Student Name	Gender		SECTOR Properties services as an				Applications Type :		Renewal	
2595 SANGEETA KANWAR Female B. S/Scence/IIII Renewal 10 300 300 2011	AND THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED I			- Type	No. of		Maintenenro		or annihilation of the last of	Chapter of the contract of the	
2599 Sonam Kumari Sidar Female B. Sc./Science/III Renewal 10 300 300 0 2011 2011 2586 VLIAY LAKSHMI KANWARR Female B. S., Science/III Renewal 10 300 300 0 2011 2011 3581 Individual kanwar Female B. S., Science/III Renewal 10 300 3000 0 2011 2011 3590 Kirshna kanh Male B. S., Science/III Renewal 10 300 3000 0 2011 2011 3591 Kir kumar kanwar Female B. S., Science/III Renewal 10 300 3000 0 2011 2011 2011 351 Inta bjevt Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 5011 <td< td=""><td>756269 SANGEETA KANWAR</td><td>Female</td><td>B. Sc./Science/III</td><td></td><td>Month</td><td></td><td>Allowance</td><td>THE PERSON NAMED IN</td><td>Other Fee</td><td>all 9</td><td>Total Amou</td></td<>	756269 SANGEETA KANWAR	Female	B. Sc./Science/III		Month		Allowance	THE PERSON NAMED IN	Other Fee	all 9	Total Amou
5286 VIJAY LAKSHMI KAWWAR Female B. A/Arts/III Renewal 10 300 300 0 2011 2011 3230 FIZHAY LAKSHMI KAWWAR Female B. S./Science/III Renewal 10 300 3000 0 2011 2011 366 Kishna kamwar Female B. S./Science/III Renewal 10 300 3000 0 2011 2011 367 Kitt Kumari Kamwar Female B. S./Science/III Renewal 10 300 3000 0 2011 2011 351 Ibranumati kamwar Female B. A/Arts/III Renewal 10 300 0 2011 2011 2011 352 Ilrahumati kumari kamwar Female B. A/Arts/III Renewal 10 300 0 2011 2011 5011	746299 Sonam Kumari Sidar	Female	B Cr /Criance/III	Kenewal	10	300	3000	0	2011	News Street Street	THE RESIDENCE
864 krizhuszill Renewal 10 300 3000 0 2011 2011 767 krizhus kantuh Male B. S./Science/III Renewal 10 300 300 0 2011 2011 767 Krizh Kumari Kanwar Female B. S./Science/III Renewal 10 300 0 2011 2011 2011 521 barumati Kumari Kanwar Female B. A./Arts/III Renewal 10 300 0 2011 2	756286 VIJAY LAKSHMI KANWAR	Female	B A (Ade/III	Renewal	10	300	3000	0	2011	1102	20
M864 kirstna kantih Male B. A,Arts/III Renewal 10 300 300 0 2011 2	760321 ranjana kanwar	Female	D. A./MIS/III	Renewal	10	300	3000	0	2011	2011	20
765 Kirth Kumari Kanwar Female B. A,Arts/III Renewal 10 300 300 201 2011 2011 480 Purnima Kanwar Female B. S.C,Science/III Renewal 10 300 3000 0 2011 2011 51 Pharumat Kanwar Female B. A,Arts/III Renewal 10 300 3000 0 2011 2011 51 Inan-jeck kumar Female B. A,Arts/III Renewal 10 300 3000 0 2011 2011 2011 577 Ialta byar Female B. A,Arts/III Renewal 10 300 3000 0 2011 <td>760864 krishna kanth</td> <td>No.</td> <td>p. ac./acience/III</td> <td>Renewal</td> <td>10</td> <td>300</td> <td>3000</td> <td></td> <td>7107</td> <td>2011</td> <td>20</td>	760864 krishna kanth	No.	p. ac./acience/III	Renewal	10	300	3000		7107	2011	20
A80 Purilina Kanwar Emale B. Sc/Science/III Renewal 10 300 300 0 2011 2011 521 Intra Annual Kanwar Female B. A/Arts/III Renewal 10 300 300 0 2011 2011 521 Intra byar Female B. A/Arts/III Renewal 10 300 300 0 2011 2011 522 Intra byar Female B. A/Arts/III Renewal 10 300 300 0 2011 2011 523 Intra byar Female B. A/Arts/III Renewal 10 300 3000 0 2011 2011 524 Kishaw Kulwak Kanwak Male B. A/Arts/III Renewal 10 300 3000 0 2011 2011 53 Faryawik Kulwak Kanwak Female B. A/Arts/III Renewal 10 300 3000 0 2011 2011 54 Sitlendra kumar kanwar Female B. A/Arts/III Renewal 10 300 3000 0	763767 VI+I V	ridie	B. A./Arts/III	Renewal	10	000	8	0	2011	2011	20
SOI Purnima Kanwar Female B. A/Arts/III Renewal 10 300 3000 0 2011 2011 2011 SOI Immarijeet kumari kanwari B. A./Arts/III Renewal 10 300 3000 0 2011	20200 Nird Numan Kanwar	Female	B. Sc./Science/III	Renewal	0 0	200	3000	0	2011	2011	50
S21 bhanumati kumari Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 S01 amarjeet kumar Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 S02 falita biyar Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 2011 S02 KISHAN KUMAR KANWAR Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 2011 S03 KISHAN KUMAR KANWAR Female B. A./Arts/III Renewal 10 300 0 2011 2011 2011 S03 KISHAN KUMAR KANWAR Female B. A./Arts/III Renewal 10 300 0 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011	703480 Purnima Kanwar	Female	B. A./Arts/III	Tomour D	10	300	3000	0	2011	2011	100
nate Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 AR KANWAR Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 AR KANWAR Male B. S.A./Arts/III Renewal 10 300 3000 0 2011 2011 ANWAR Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 BINJHWAR Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 ARAME Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 2011 ARAME Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011 2011<	765521 bhanumati .kumari	Female	R A /Arts/TIT	Verlewal	10	300	3000	0	2011	2000	100
577 lalita biyar Female B. A,Arts/III Renewal 10 300 300 2011 <th< td=""><td>765501 amarjeet kumar</td><td>Malo</td><td>III/SiW/w.</td><td>Renewal</td><td>10</td><td>300</td><td>3000</td><td>0</td><td>1102</td><td>7011</td><td>201</td></th<>	765501 amarjeet kumar	Malo	III/SiW/w.	Renewal	10	300	3000	0	1102	7011	201
Male B. A./Arts/III Renewal 10 300 3000 0 2011 2011 MASHANIWAR KANWAR Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 MANJU LATA Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 MANJU LATA Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 MANJU LATA Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 56 DEEPAK KUMAR Male B. B. A./Arts/III Renewal 10 300 0 2011 2011 2011	765577 Jalita Nicor	rigic	B. A./Arts/III	Renewal	10	300		0	7011	2011	501
Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 41 INDIRA INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 56 DEEPAK KUMAR Male B. S.C./Science/III Renewal 10 300 3000 0 2011 2011	control of all	Female	B. A./Arts/III	Renewal		000	3000	0	2011	2011	103
335 PRIYANKA KANWAR Female B. Sc./Science/III Renewal 10 300 300 0 2011 2011 503 Kamlesh Kumari Kanwar Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 2011 55 ASHA KUMARI BINJHWAR Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 20 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 3000 0 2011 2011 56 DEEPAK KUMAR Male B. Sc./Science/III Renewal 10 300 3000 0 2011 2011	766002 KISHAN KUMAR KANWAR	Male	B A /Arte/III	Business	10	300	3000	0	2011	******	100
303 Kamlesh Kumari Kanwar Female B. A./Arts/III Renewal 10 300 300 2011 2011 2011 55 İtendra kumar Kanwar Male B. A./Arts/III Renewal 10 300 300 0 2011 2011 57 ASHA KUMARI BINJHWAR Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 56 DEEPAK KUMAR Male B. Sc./Science/III Renewal 10 300 300 0 2011 2011 2011	766035 PRIYANKA KANWAR	Female	The Country of the	Kenewal	10	300	3000	0	1000	1107	501
58 jitendra kumar kanwar Male B. A./Arts/III Renewal 10 300 300 2011 2011 2011 57 ASHA KUMARI BINJHWAR Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 20 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 56 DEEPAK KUMAR Male B. Sc./Science/III Renewal 10 300 300 0 2011 2011	765903 Kamlesh Kumari Kanwar	Formula	b. sc./sdence/III	Renewal	10	300	3000		2011	2011	5011
57 ASHA KUMARI BINJHWAR Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 2011 20 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 56 DEEPAK KUMAR Male B. Sc./Science/III Renewal 10 300 300 0 2011 2011	773958 fitendra kumar kanwar	alpino.	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	201
20 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 20 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 56 DEEPAK KUMAR Male B. Sc./Science/III Renewal 10 200 2011 2011	803657 ACUA MINEST	Male	B. A./Arts/III	Renewal	10	000	2000	0	2011	2011	501
20 MANJU LATA Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 56 DEEPAK KUMAR Male B. Sc./Science/III Renewal 10 300 300 0 2011 2011	GUSGS/ ASHA KUMARI BINJHWAR	Female	B. A./Arts/III	Donous	27	300	3000	0	2011	2011	504
41 INDIRA NO SURNAME Female B. A./Arts/III Renewal 10 300 300 0 2011 2011 501 501 501 501 501 501 501 501 501	1113320 MANJU LATA	Female	R A /Arte/Tit	Kenewal	10	300	3000	0	2011	1000	TAC
56 DEEPAK KUMAR Male B. Sc./Science/III Renewal 10 300 300 0 2011 2011	1113341 INDIRA NO SURNAME	Comple	D. A./A(S/III	Renewal	10	300	3000		1102	7011	5011
Male B. Sc./Science/III Renewal 10 200 0 2011 2011	1114166 DEFPAK KIIMAP	remale	B. A./Arts/III	Renewal	10	300	0000	0	2011	2011	5011
	NOTION NOTICE	Male	B. Sc./Science/III	Renewal	10	200	2000	0	2011	2011	5011

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periqd is detected.Out of which Rs.....as maintenance allowance and Rs.

5011

2011

2011

0

Date:

Distt. - KORBA (C. G.) Govt. College, Barna

PRINCIPAL

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

Page 2/8

DISTT-KORBA (C.G.)

Govneral Residence of the Institution)

ment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

ST Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/2/7/80567 Sanction Date: 01/01/2018

Application ID Student Name		THE REPORT OF THE PARTY OF THE	STREET BEIGHTS STREET,	-			Applications Type:	Kenewai		
	Januar I	Course	Туре	No. of	Rate Mai	Maintenence		100	E	SELECTION STATES
1115603 KIRAN KUMARI KANWAR	Female	B. Com./Commerce/TIT	Don't like the latest like the	Month	A	Allowance			lotal Fee	Total Amount
1116744 MADHU NOSURNAME	Formalo	D & Later of the	kenewai	10	300	3000	0 20	2011	2011	and a second
766100 MANTELIA COLLEGE	Californ	b. A./Arts/III	Renewal	10	300	3000	-		1707	2011
COLOS PINISHA KANWAR	Female	B. A./Arts/III	Renewal	01	000	2	0	1107	2011	
1117443 SUNITA KANWAR	Female	B. A. /Arts/III		OT	300	3000	0 20	2011	2011	5011
1118780 CHANDRAKAI A KANWAD	Commit	III (Carlos S	Kenewal	10	300	3000	0 00	2011	2044	-
Victoria de la constanta de la	religie	B. Sc./Science/III	Renewal	10	300	0000			1107	5011
1118822 NAN SINGH	Male	B. A./Arts/III	Donord		200	3000	0 20	2011	2011	5011
1131687 RAM SINGH	Female	B A /Arte/III	Neilewall	10	300	3000	0 20	2011	2011	5011
1134321 AMRIKA BINJHWAR	Formale	D A (A LANCE	Kenewai	10	300	3000	0 2011	111	2011	
1134849 thitram hinihuman	5	b. A./AICS/III	Renewal	10	300	3000	000			1106
IPMINIMAL CO. C.	Male	B. A./Arts/III	Donord		and the same of th	-	1102	11	2011	5011
1136924 seema kumari kanwar	Female	B. Sc /Science/III	Neilewal	10	300	3000	0 2011	11	2011	5011
1118797 JANKI NOSHIDNAME		and second till	Kenewal	10	300	3000	1100			
TI BAR COOK	reflidie	B. A./Arts/III	Renewal	10	000	-	-		1107	5011
1150461 GEETANJALI BINJHWAR	Female	B. Sc./Science/III	Donous	24	300	3000	0 2011	11	2011	5011
1138803 KIRAN NO SURNAME	Female	R A /A-d-c/TTT	Veriewal	10	300	3000	0 2011	11	2011	ū
1238181 DURGESHWADT KIIMAGT		S. A./AIG/III	Renewal	10	300	3000	0 0		2000	
North North	remale	B. A./Arts/II	Renewal	10	2000		-	-	2011	S
1238328 ARTI KUMARI	Female	B. A./Arts/II	Donough	24	200	3000	0 2011	1	2011	5(
1238938 SONIYA KUMARI KANWAR	Formula		vei lewal	10	300	3000	0 2011	1	2011	-
Victoria de la companya del companya de la companya del companya de la companya d	Leiligie	B. Sc./Science/II	Renewal	10	300	2000	-		7707	ה ו
1238796 SUNITA KUMARI	Female	B. A./Arts/II	Rangual	2 4	200	3000	0 2011	1	2011	5011
1237994 PAVITREE KANWAR	Female	B A /A to fre	NCIICWGI	10	300	3000	0 2011	1	2011	22
Design in		U. A./AIS/II	Renewal	10	300	3000	0			4

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ..Out of which Rs.....as maintenance allowance and Rs.

Place:

Date

Page 3/8

DIST. - KORBA (C. G.) Gow. College, Barnal

PRINCIPAL

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

(Signature and Seal Of the Institution)

JOWENE CENTRODE CONTROLL DESTY-KORBA (C.G.)

riment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh

Sanction Number: R/7/1073/2/7/80567 Sanction Date: 01/01/2018

Application ID Student Name	Conder	である。 100mm 100m	THE RESIDENCE AND PARTY OF THE PERSON NAMED IN COLUMN NAMED IN	SOUTH STATE OF STATE						
	Janiiao	Course	Type	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	TOTAL MANAGEMENT
1240751 SUSHILA KANWAR	Female	B. A./Arts/II	Renewal	O. CHICAGO	THE OWNER OF THE OWNER OWNER OF THE OWNER OW	Allowance				
1241379 VARSHA URANW	Female	R Com ICommonate itte	Notice and	OT	300	3000	0	2011	2011	5011
1241462 NANDINI KANWAR	Comple	o. com./commerce/III	Kenewal	10	300	3000	0	2011	2011	5011
	Lende	B. Sc./Science/II	Renewal	10	300	3000	C	2011		100
1248608 SHANTI KANWAR	Female	B. A./Arts/II	Renewal	10	000	200	0	1107	2011	5011
1249769 DILESHWARI SIDAR	Female	B. A./Arts/III	Renewal	70	300	3000	0	2011	2011	5011
1240448 JYOTI KUMARI	Female	B. A /Arts/II		OT	300	3000	0	2011	2011	5011
1254512 GAURI BAI KANWAR	Female	B A /Arts/III	Kenewai	10	300	3000	0	2011	2011	5011
1254664 ANGAN BAT	o le mou	11/01/01/01 D	Kenewal	10	300	3000	0	2011	2011	5011
	Leilidie	B. A./Arts/II	Renewal	10	300	3000	•		-	100
1249831 SUNEETA KANWAR	Female	B. A./Arts/III	Renewal	0,	200	2000	0	2011	2011	5011
1255694 JYOTI KANWAR	Female	B. Com./Commerce/II	1	10	300	3000	0	2011	2011	5011
1255844 ARUNA KANWAR	Female	B Co /Colonno /11	Kenewal	10	300	3000	0	2011	2011	5011
1255887 DANCTTA DINIMARA		o. oc./ science/II	Kenewal	10	300	3000	0	2011	2011	
TESSOON MANGELIA BINJHWAK	Female	B. Sc./Science/II	Renewal	10	300	0000	-	-	1102	2011
1255927 RUPA KUMARI	Female	B. Sc./Science/II	Renowal	0,	000	3000	0	2011	2011	5011
1256036 MAHENDRA KUMAR KANWAR	Male	B. A./Arts/II	Donous	O	300	3000	0	2011	2011	5011
1255975 GEETA KANWAR	Female	B. A /Arts/II	Reliewal	10	300	3000	0	2011	2011	5011
1256105 MAGAN LAL	Male	B A /Arts/III	Kerlewal	10	300	3000	0	2011	2011	5011
1256702 LUKESHWARI KANWAR	Fomalo	o Co (Colores me	Kenewai	10	300	3000	0	2011	2011	5011
1256744 LATA KANWAD	1	b. 3c./3dence/III	Renewal	10	300	3000	0	2011	2011	5011
NOMINO: CITY	remaie	B. A./Arts/II	Renewal	10	300	3000	C	1000		1100

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the perigd it is detected.Out of which Rs......as maintenance allowance and Rs. ...

Place: Date

Page 4/8

Govt. College, Barpall PRINCIPAL

DISTE. - KORBA (C. 5.)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018 DISTT-KORBA (C.G.)

(SignathRinGanALHead of the Institution)

GOVTPP COCLECTE BARPALI

...ment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

GOVT. COLLEGE BARPALI Institute Name:

Academic Year: 2017 - 18

Government of Chhattisgarh State:

R/7/1073/2/7/80567 Sanction Number:

Sanction Date: 01/01/2018

	THE REPORT OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NAME	TO SECURE AND THE PROPERTY OF THE PERSON OF	CONTRACTOR WITCHWARD STREET, S	The second secon						
Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1258334 PRATAP SINGH	Male	B. A./Arts/II	Renewal	10	300	3000			2011	
1254725 SHIVNARAYAN KANWAR	Male	B. Com./Commerce/II	Renewal	101	300	0000			7011	5011
1265264 GOMTI KUMARI	Female	B. A./Arts/II	Icwood	07	2000	3000	0		2011	5011
1265314 SHTV KLIMART	Comple	D 4 14 m	NGIRWOI	TO	300	3000	0	2011	2011	5011
DULION ATIO	remaie	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
1265399 SANJU LATA	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	2000
1265408 SANTOSHI BAI	Female	B. A./Arts/III	Renewal	01	300	3000		1102	7077	5011
1271667 KIRAN BAI	Female	B. A./Arts/II	Renewal	0,	000	3000	0	7011	2011	5011
1271782 ANJANEE KANWAR	Female	B. A./Arts/II	Renewal	2 5	2000	3000	0	2011	2011	5011
1271965 SARASWATI KANWAR	Female	R Cr /Crionco/III		OT	2000	3000	0	2011	2011	5011
1276377 KDICHNA MIMAD		o. our outsiner III	Kenewai	10	300	3000	0	2011	2011	5011
ANTONIA NOPIAK	remale	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
1277327 NISHA KANWAR	Female	B. A./Arts/III	Renewal	10	300	0000		1	1107	TIOC
1277547 JAL KANWAR	Female	B. A./Arts/III	Renewal	0 -	000	0000	0	2011	2011	5011
1277639 DINESH KUMAR GOND	Male	B A /Auto/III		OT	300	3000	0	2011	2011	2011
TOTAL CHANNA CONTES	200	D. A./A.G/III	Kenewal	10	300	3000	0	2011	2011	5011
12/003/ AIVAIND NUMAKI	Male	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	
1265299 ANITA KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000		1102	1102	2011
1279840 AJAY KUMAR	Male	B. Sc./Science/II	Renewal	10	300	0000	0	707	7107	5011
1279901 GIRJA KUMARI KANWAR	Female	B. Com./Commerce/II	Penedal	0	000	3000	0	2011	2011	5011
1281122 KAI DANA CTDAD	Postala		The second	70	200	3000	0	2011	2011	5011
STATE WAS SIDAN	remaie	B. Sc./Science/II	Renewal	10	300	3000	0	2011	1100	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ... as tuition and other fees. Printed copy of onlineas maintenance allowance and Rs.Out of which Rs... serial no. 1 to I do here by sanctioning a sum of Rs.

Place Date Govt. College, Barpa

PRINCIPAL

Distt. - KORBA (C. G.

GOOTEN awas Research Strangers Institution)

PRINCIPAL

riment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

0

Sanction Number: R/7/1073/2/7/80567

Sanction Date: 01/01/2018

1281145 SANGITA KANWAR 1281322 RATH BAI KANWAR	CONTRACTOR DESCRIPTION OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TRANSPORT NAMED IN CO	A STATE OF THE PARTY OF THE PAR	THE REPORT OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED I	THE PERSON NAMED IN COLUMN NAM	SECTION AND REPORT OF THE PERSON NAMED IN COLUMN NAMED IN COLU	With the second control of the second				
1281145 SANGITA KANWAR 1281322 RATH BAI KANWAR		X III	Iype	No. of	Rate	Maintenence	Tuition Fee	Other Fee	TO 20 FOR	THE PARTY OF THE P
1281322 RATH BAI KANWAR	Female	B. Com./Commerce/II	Pomono	The Control of the Co		Allowance		The State of the		
TRAILING TO THE TAX TO	Female	R A /Arts/III	NCITCWGI	10	300	3000	0	2011	2011	5011
1281495 SHIVSHANKAR KANWAR	Malo	0 A (A LA MI	Kenewal	10	300	3000	0	2011	2011	5011
1283203 CANTIL KIMADE	000	D. A./Arts/II	Renewal	10	300	3000	0	2011	1100	1
SCOSCOS SANDO NOMAKI	Female	B. A./Arts/II	Renewal	10	300	2000		7707	1107	5011
1287506 BHASHKAR SINGH	Male	B. A./Arts/II	Renewal	101	000	2000	0	2011	2011	5011
1288115 KAMLESH KUMAR	Male	B. A./Arts/II	Denous	2 .	2000	3000	0	2011	2011	5011
1288126 SURENDRA KUMAR	Male	B. Sc./Science/II	Donormal	10	300	3000	0	2011	2011	5011
1288209 NEETU DEVI	Female	B. A./Arts/III	Donound	10	300	3000	0	2011	2011	5011
1295269 NIRANJAN SINGH	Male	R A /Arts/III	Vellewall	10	300	3000	0	2011	2011	5011
1296833 ANITA KUMARI SINGH	Female	B. Sc /Science/II	Kenewal	10	300	3000	0	2011	2011	5011
1359548 VISHAKHA KANWAR	Female	B Cc /Ccionce/II	Kenewal	10	300	3000	0	2011	2011	5011
1360709 RESHMA SIDAR	Comple	o. oc./ ocience/III	Kenewal	10	300	3000	0	2011	2011	5011
100000	Lemidie	B. A./Arts/III	Renewal	10	300	3000	0	2001		2011
1369966 PILESHWARI KUMARI	Female	B. A./Arts/II	Renewal	01	2000	0000	0	7011	2011	5011
1279682 VIMLESHWARI KANWAR	Female	B. Sc./Science/II	Donord	27	200	3000	0	2011	2011	5011
1369992 RAGINI KANWAR	Female	B. Com./Commerce/TI	Renewal	10	300	3000	0	2011	2011	5011
1379725 DEV MATI KANWAR	Female	B. Sc./Science/II	Denemal	10	300	3000	0	2011	2011	5011
1379737 YASHODA KUMARI	T	B. Sc./Science/II	Reliewal	10	300	3000	0	2011	2011	5011
1379711 NANDINI KANWAR		R Com (Commons) III	Kellewal	10	300	3000	0	2011	2011	5011
		b. com./commerce/11	Renewal	10	300	3000	0	2011	2011	101

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.as maintenance allowance and Rs. ...

Place: Date Page 6/8

Govt. College, Barpali DISH. - KORBA (C. G.

PRINCIPAL BARPALI DASTT-KORBA (C.G.) This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

Firment of Chhattisgarh

Post Matric ST Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh

Sanction Number: R/7/1073/2/7/80567

Sanction Date: 01/01/2018

Applications Type: Renewal

Application ID Student Name Course Type No. of Month Rath Maintention of Allowance Other Fee Other Fee Total Teach 1380456 RATT RAM Male 8. A/ArtyIII Renewal 10 300 0 0 2011 2011 1380764 MANISHA KUMARI Female 8. A/ArtyIII Renewal 10 300 300 0 2011 2011 13800764 MANISHA KUMARI Female 8. A/ArtyIII Renewal 10 300 300 0 2011 2011 13800764 MANISHA KUMARI Female 8. A/ArtyIII Renewal 10 300 300 0 2011 2011 1395220 MARENDRA KUMARI Female 8. A/ArtyIII Renewal 10 300 300 0 2011 2011 1395264 MALANATI KUMARI Female 8. A/ArtyIII Renewal 10 300 300 0 2011 2011 1395530 MALESHWANI KUMARI <th></th>											
Male B. A,Arts/III Renewal 10 300 300 0 2011 Male B. A,Arts/III Renewal 10 300 300 0 2011 RA Bale B. A,Arts/III Renewal 10 300 300 0 2011 RA Bale B. S./Science/III Renewal 10 300 300 0 2011 RA Female B. S./Science/III Renewal 10 300 300 0 2011 ANWAR Female B. A,Arts/III Renewal 10 300 300 0 2011 ARI Female B. A,Arts/III Renewal 10 300 300 0 2011 ARI Female B. A,Arts/III Renewal 10 300 0 2011 ARI Female B. A,Arts/III Renewal 10 300 0 2011 ARI Female B. A,Arts/III Renewal		Gender	Course	Type	No. of Month	Rate	B428400		Other Fee	Total Fee	Total Amount
Rale B. A./Arts/III Renewal 10 300 3000 0 2011 Rale B. A./Arts/III Renewal 10 300 3000 0 2011 RA Male B. S.C./Science/III Renewal 10 300 3000 0 2011 RA Male B. S.C./Science/III Renewal 10 300 3000 0 2011 ANVAR Female B. A./Arts/III Renewal 10 300 3000 0 2011 ANVAR Female B. A./Arts/III Renewal 10 300 3000 0 2011 ARI Female B. A./Arts/III Renewal 10 300 3000 0 2011 ARI Female B. A./Arts/III Renewal 10 300 3000 0 2011 ARI Female B. A./Arts/III Renewal 10 300 3000 0 2011 Female B. C./Scienc	1380456 RATI RAM	Male	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
Male B. A./Arts/III Renewal 10 300 3000 2011 RA Male B. Sc./Science/III Renewal 10 300 3000 0 2011 RA Female B. Sc./Science/III Renewal 10 300 3000 0 2011 ANWAR Female B. A./Arts/III Renewal 10 300 3000 0 2011 ANWAR Female B. A./Arts/III Renewal 10 300 3000 0 2011 ANA B. A./Arts/III Renewal 10 300 3000 0 2011 ARI Female B. A./Arts/III Renewal 10 300 3000 0 2011 AI Female B. A./Arts/III Renewal 10 300 3000 0 2011 AI Female B. A./Arts/III Renewal 10 300 300 0 2011 AI Female B. A./Arts/II </td <td>1380764 MANISHA KUMARI</td> <td>Female</td> <td>B. A./Arts/II</td> <td>Renewal</td> <td>10</td> <td>300</td> <td>3000</td> <td>0</td> <td>2011</td> <td>2011</td> <td>5011</td>	1380764 MANISHA KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
Rale B. Sc,/Science/III Renewal 10 300 300 2011 RA Female B. Sc,/Science/III Renewal 10 300 300 0 2011 ANWAR Female B. A./Arts/II Renewal 10 300 300 0 2011 RI Female B. A./Arts/II Renewal 10 300 300 0 2011 ANI Female B. Com,/Commerce/III Renewal 10 300 300 0 2011 ARI Female B. A./Arts/III Renewal 10 300 300 0 2011 AI Female B. A./Arts/III Renewal 10 300 300 0 2011 AI Female B. A./Arts/III Renewal 10 300 300 0 2011 AI Female B. C./Science/III Renewal 10 300 300 0 2011 Female B. C./Science	1388429 JAYPALH SINGH	Male	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
Female B. S.C./Science/III Renewal 10 300 3000 0 2011 Male B. A./Arts/III Renewal 10 300 3000 0 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Male B. S.C./Science/III Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011	1380009 NARENDRA KUMAR	Male	B. Sc./Science/II	Renewal	10	300	3000	0	2011	2011	5011
Male B. A./Arts/III Renewal 10 300 3000 0 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 Male B. S./Science/III Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 0 2011 Female B. S./Science/III	1394284 PURAN BAI KANWAR	Female	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
Female B. A/Arts/III Renewal 10 300 300 2011 Female B. A/Arts/II Renewal 10 300 3000 0 2011 Female B. A/Arts/II Renewal 10 300 3000 0 2011 Female B. A/Arts/II Renewal 10 300 3000 0 2011 Male B. Sc./Science/III Renewal 10 300 3000 0 2011 Female B. A/Arts/II Renewal 10 300 3000 0 2011 Female B. C./Science/III Renewal 10 300 3000 0 2011 Female B. C./Science/III Renewal 10 300 3000 0 2011 Female B. Sc./Science/III Renewal 10 300 3000 0 2011 Female B. Sc./Science/III Renewal 10 300 3000 0 2011	1395120 PUSHPENDRA KUMAR	Male	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
Female B. A/Arts/II Renewal 10 300 300 0 2011 Female B. Com./Commerce/III Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Male B. Sc./Science/III Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. Sc./Science/II Renewal 10 300 3000 0 2011 Male B. Sc./Science/II Renewal 10 300 300 0 2011 </td <td>1395233 ASHWANI KUMARI KANWAR</td> <td>Female</td> <td>B. A./Arts/III</td> <td>Renewal</td> <td>10</td> <td>300</td> <td>3000</td> <td>0</td> <td>2011</td> <td>2011</td> <td>5011</td>	1395233 ASHWANI KUMARI KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
Female B. Com./Commerce/III Renewal 10 300 3000 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 Male B. Sc./Science/III Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. Sc./Science/II Renewal 10 300 3000 0 2011 Male B. Sc./Science/II Renewal 10 300 3000 0 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011	1395503 FULESHWARI KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
Female B. A,Arts/II Renewal 10 300 0 2011 Female B. A,Arts/II Renewal 10 300 3000 0 2011 Male B. Sc,/Science/III Renewal 10 300 3000 0 2011 Female B. Sc,/Science/II Renewal 10 300 3000 0 2011 Female B. A,Arts/II Renewal 10 300 3000 0 2011 Female B. A,Arts/II Renewal 10 300 3000 0 2011 Male B. Sc,/Science/II Renewal 10 300 3000 0 2011 Male B. A,Arts/II Renewal 10 300 300 0 2011	1395564 SANJU KUMARI	Female	B. Com./Commerce/III	Renewal	10	300	3000	0	2011	2011	5011
Female B. A./Arts/II Renewal 10 300 3000 0 2011 Female B. A./Arts/III Renewal 10 300 3000 0 2011 Male B. Sc./Science/III Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011	1395638 KHAGESHWARI KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
Female B. A./Arts/III Renewal 10 300 3000 0 2011 Male B. Sc./Science/III Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Male B. Sc./Science/II Renewal 10 300 3000 0 2011	1396330 JYOTI KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
Male B. Sc./Science/III Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 300 0 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011	1396417 BRIHUSPATI KUMARI	Female	B. A./Arts/III	Renewal	10	300	3000	0	2011	2011	5011
Male B. Sc./Science/II Renewal 10 300 3000 0 2011 Female B. Com./Commerce/II Renewal 10 300 3000 0 2011 Female B. A./Arts/II Renewal 10 300 3000 0 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011	1398500 NANDANI KANWAR	Male	B. Sc./Science/III	Renewal	10	300	3000	0	2011	2011	5011
Female B. Com./Commerce/II Renewal 10 300 300 0 2011 Female B. A./Arts/II Renewal 10 300 300 0 2011 Male B. A./Arts/II Renewal 10 300 300 0 2011	1398993 RAVI KUMAR	Male	B. Sc./Science/II	Renewal	10	300	3000	0	2011	2011	5011
Female B. A./Arts/II Renewal 10 300 300 0 2011 Female B. Sc./Science/II Renewal 10 300 3000 0 2011 Male B. A./Arts/II Renewal 10 300 3000 0 2011	1388456 SEEMA KUMARI	Female	B. Com./Commerce/II	Renewal	10	300	3000	0	2011	2011	5011
Female B. Sc./Science/II Renewal 10 300 300 0 2011 Male B. A./Arts/II Renewal 10 300 300 0 2011	1408732 GEETA KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011
Male B. A./Arts/II Renewal 10 300 3000 0 2011	1409056 GAYATRI KANWAR	Female	B. Sc./Science/II	Renewal	10	300	3000	0	2011	2011	5011
	1409151 SURENDRA KUMAR	Male	B. A./Arts/II	Renewal	10	300	3000	0	2011	2011	5011

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ...as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected.as maintenance allowance and Rs.Out of which Rs... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date: Place.

DISH. - KORBAIC. 6.

Govt. College, Barpali PRINCIPA

Go Wante Repha Fet Branch of the Institution) THETT KORBA (C.C.)

annent of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/2/7/80567

Sanction Date: 01/01/2018

	STREET, STREET, STATES AND STREET, STR					7	Applications Type	ype: Kenewa	wal	
Application LD Student Name	Gender	Course	Туре	No. of	Rate	Aaintenence Tuit	ion Fee	Other Fee	Total Fee	Total Amount
1409254 KHILESHWARI KUMARI	Female	B. A./Arts/II	Donoug			Allowance				
141313C DATECLI CTION		are formal are	IPMAILEN	10	300	3000	0	2011	2011	
1413120 KAJESH SINGH	Male	B. Com./Commerce/III	Renewal	0,	000		-		1103	********
1405848 ATAV KITMAD KANBUAN				10	300	3000	0	2011	2011	
TOSOTO AURI NUMAR KANWAR	Male	B. A./Arts/II	Renewal	10	000	0000	-			
1441770 MINISHA KIIMADI	Parent	The second secon		OT .	200	3000	0	2011	2011	
DANIELON COLONIALON	remale	B. A./Arts/II	Renewal	10	300	3000	0	2011	1100	-
			-	Colored monocontinuous and other	-		,	TYON	1107	
					Total:	387000	0	259419	259419	646419

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the particle it is detected.as maintenance allowance and Rs.Out of which Rs..... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date : Place:

Diett. - KORBA

Govt. College, Barnali

Head of the Institution) GOV Na COLLEGE Sear OF Head OF THE STATE OF THE SEAR PARTY NORBA (C.G.)

Sanction Register for Scholarship

Gover ment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

OBC Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/3/10/80584

Sanction Date: 01/01/2018

Application ID Student Name	T. Division	是我们是一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个	STREET PROPERTY.	Terrategic property and the passess of the passes of the p						
		Course	Type	No. of	Rate Maint	enence	Tuition Fee	Other Fee	1000年には北京	AND THE PERSON NAMED IN COLUMN
349380 SANJANA KUMARI RATHORE	RE Female	B. A./Arts/III	Donous		A PAIN	wance				
351771 Ravi Narayan Kashyap	Male	R Sc /Science/TIT	Veliewal	10	85	820	115	2011	2126	-
560487 KAVITA MAHANT	Comple	a ser secretary III	Kenewal	10	70	700	115	2011	3136	-
	remale	B. Sc./Science/III	Renewal	10	85	OEO	•		6150	***************************************
S60076 ANKESHWARI KUMARI	Female	B. Sc./Science/III	Renewal	C.	3 6	000	0	2011	2011	
722671 kripal das	Male	B. A./Arts/III	Donous	70	82	820	0	2011	2011	
722711 hemlata yadav	Female	B. Com /Commerce/TTT	Neilewall	10	70	200	115	2011	2126	-
734918 BHASKAR MARAR	olcM	D Co. 12 - 12 - 12 - 12 - 12 - 12 - 12 - 12	Kenewai	. 10	85	820	0	2011	2011	
	Ligic	b. sc./sdence/III	Renewal	10	70	200				***************************************
734338 ratni kumari	Female	B. A./Arts/III	Renewal	0,	2 0	8	115	2011	2126	
735170 JAY PRAKASH KAIWART	Male	B. A./Arts/III	Denomina	OT	82	820	0	2011	2011	
735193 AJAY KUMAR PATEL	Male	B A /Arts/III	Kenewal	10	70	200	115	2011	2126	2826
734928 PUSHPENDRA KIIMAR BATAK	T	D. A. A. W. S. III.	Renewal	10	20	700	115	2011	2126	202
	1	B. sc./science/III	Renewal	10	20	200			2317	****
700/19 Kajni Kumari Kashyap	Female	B. A./Arts/III	Renewal	0,7		3	113	7011	2126	
757228 MANISHA KUMARI YADAV	Female	R Sc /Science/TIT	Neilewal	10	82	820	0	2011	2011	2861
760544 Month Vachana		o: oc./ odence/111	Kenewal	10	85	850	0	2011	2000	
COOTH MAINING KASNYAD	Female	B. A./Arts/III	Renewal	10	90	010	0	1102	2011	2861
746094 Vikas Kumar	Male	B. Com./Commerce/III	Donor	24	60	820	0	2011	2011	-2861
760603 Bhuneshwari Kashyap	Female	R A /Aste/III	Reflewal	10	70	200	115	2011	2126	2876
760766 Sangeeta Kachuan		0.0./NIS/III	Kenewal	10	85	850	0	2011	2011)
delica	remaie	B. Sc./Science/III	Renewal	10	30	010		-	7707	1007

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...Out of which Rs.....as maintenance allowance and Rs.

Place: Date :

College, Barpali IN. - KORBA IC. PRINCIPAL

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

(Signature**图试验以中共**可可the Institution)

ent of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

5

R/7/1073/3/10/80584 Sanction Number:

Sanction Date: 01/01/2018

Applications Type

Total Manual Personal Person	THE REPORT OF THE PARTY OF THE	大学 (1995年) 1995年 1995年	PER STORESTON STORESTON STORES				The Control of		add siloneandd	31	reliewal	
Female B. A./Artx/III Renewal 10 85 850 0 2011 2011 Male B. S.C./SchencyIII Renewal 10 85 850 0 2011 2011 Male B. A./Artx/III Renewal 10 70 700 115 2011 2011 Female B. Com,/Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com,/Commerce/III Renewal 10 70 700 115 2011 2012 Male B. A./Artx/III Renewal 10 70 700 115 2011 2126 Male B. A./Artx/III Renewal 10 70 700 115 2011 2126 Female B. A./Artx/III Renewal 10 70 700 115 2011 2126 Male B. A./Artx/III Renewal 10 70 700 115 2011 2126	Application 1D	Student Name	Gender	Course	Type	No. of	Rate	Maintenence	E-CHARLE.	Other Fee	Total Fee	Total Amount
Female B. Sct/Science/III Renewal 10 85 850 0 2011 2011 Male B. A./Arts/III Renewal 10 85 850 0 2011 2011 Female B. Com./Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 700 115 2011 2011 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Female B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. C./Science/III Renewal 10 70 700 115 2011 2126	760782	Sunita Yadav	Female	B. A./Arts/III	Renewal	10	95	Allowanc				A STATE OF STREET
Male B. A,AAts/III Renewal 10 70 2011 2011 Female B. Cam,Commerce/III Renewal 10 70 700 115 2011 2126 Female B. Com,Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com,Commerce/III Renewal 10 70 700 115 2011 2011 Male B. Com,Commerce/III Renewal 10 70 700 115 2011 2126 Male B. A,Arts/III Renewal 10 70 700 115 2011 2126 Male B. A/Arts/III Renewal 10 70 700 115 2011 2126 Male B. A/Arts/III Renewal 10 70 700 115 2011 2126 Male B. C./Science/III Renewal 10 70 700 115 2011 2126 Female B. C	760552	SUNITA KUMARI BARETH	Female	B. Sc./Science/III	Panawal	9	200		0	7011	2011	2861
Female B. Com,/Commerce/III Renewal 10 70 700 115 2011 2126 Female B. Com,/Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com,/Commerce/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Female B. A./Arts/III Renewal 10 70 700 115 2011 2126 <t< td=""><td>761075</td><td>RAKKU RAM BARETH</td><td>Male</td><td>R A /Arte/III</td><td></td><td>21</td><td>60</td><td></td><td>0</td><td>2011</td><td>2011</td><td>7861</td></t<>	761075	RAKKU RAM BARETH	Male	R A /Arte/III		21	60		0	2011	2011	7861
Female B. Com,/Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com,/Commerce/III Renewal 10 70 700 115 2011 2011 Male B. Com,/Commerce/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Female B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Female B. Com,/Commerce/III Renewal 10 70 70 115 2011 2126 <	767889	lavanti Dathora	Comple	THE PROPERTY OF	Keilewai	10	0/	200	115	2011	2126	2826
Female B. Com,/Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com,/Commerce/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Female B. Com,/Commerce/III Renewal 10 70 700 115 2011 2126 Female B. Sc/Science/III Renewal 10 70 700 2011 2011 2011 <	500.00	Joyanu Naulore	remaie	B. Com./Commerce/III	Renewal	10	85	850	0	2011	2011	7861
Male B. Com./Commerce/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Female B. A./Arts/III Renewal 10 70 70 2011 2011 2016 Male B. S.C./Science/III Renewal 10 70 70 115 2011 2126 Female B. S.C./Science/III Renewal 10 70 700 115 2011 2126 Female B. S.C./Science/III Renewal 10 70 700 115 2011 2126 Female B. S.C./Science/III Renewal 10 85 850 0 2011 2011	767897	Jyoti Yadaw	Female	B. Com./Commerce/III	Renewal	10	85	850	0	2011	2011	1007
Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Female B. A./Arts/III Renewal 10 85 850 0 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. S.C/Science/III Renewal 10 70 70 115 2011 2126 Female B. S.C/Science/III Renewal 10 70 70 115 2011 2126 Female B. S.C/Science/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 <	1 296297	Vikram Kumar Kumhar	Male	B. Com./Commerce/III	Renewal	10	70	2002	2 44	1102	2011	1987
Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2011 Male B. S.C./Science/III Renewal 10 70 70 115 2011 2126 Male B. Com./Commerce/III Renewal 10 70 700 115 2011 2126 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Female B. Com./Commerce/III Renewal 10 85 850 0 2011 2011	770493 (Chandra Prakash Kashyap	Male	B. A./Arts/III	Renewal	10	707	2007	CIT	707	2126	2826
Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. S.C./Science/III Renewal 10 70 700 115 2011 2126 Female B. S.C./Science/III Renewal 10 70 70 115 2011 2011 Female B. S.C./Science/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 70 2011 2011 2011 Male B. Com./Commerce/III Renewal 10 70 2011 2011 2011	771811 E	Bhagwat Prasad Kenwat	Male	B. A./Arts/II	Renewal	101	202	00/	CIT	2011	2126	2826
Male B. A./Arts/III Renewal 10 70 70 115 2011 2126 Female B. A./Arts/III Renewal 10 70 700 115 2011 2011 2126 Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. Sc./Science/III Renewal 10 70 700 115 2011 2126 Female B. Sc./Science/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 2011 2011 2011	769085 h	Manoj Kumar Kashyap	Male	B. A./Arts/III	Renewal	2 5	2 6	007	115	2011	2126	2826
Female B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. A./Arts/III Renewal 10 70 70 115 2011 2011 Male B. Sc./Science/III Renewal 10 70 70 115 2011 2126 Female B. Sc./Science/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 70 2011 2011	1116802 N	NARESH KUMAR	Male	B. A./Arts/III	Downord	2 5	2 2	2007	1115	2011	2126	2826
Male B. A./Arts/III Renewal 10 85 850 0 2011 2011 2011 2011 2011 2012 2011 2012 2011 2012 2011 2012 2013 2014	1115810 I	TTWARA KUMARI	Female	B A /A-te/TIT	NGIICWGI	10	N	700	115	2011	2126	2826
Male B. A./Arts/III Renewal 10 70 700 115 2011 2126 Male B. Sc./Science/III Renewal 10 70 700 115 2011 2126 Female B. Com./Commerce/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 70 115 2011 2011	1117683 N	NADENIDDA VIIMAD	2	D. A./M.S/III	Kenewal	10	82	820	0	2011	2011	2861
Male B. Sc./Science/III Renewal 10 70 700 115 2011 2126 Male B. Com./Commerce/III Renewal 10 70 700 115 2011 2126 Female B. Sc./Science/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 70 115 2011 2015	200,711	WANCINDISA NOMBAK		B. A./Arts/III	Renewal	10	70	200	115	2011	2126	2826
Male B. Com./Commerce/III Renewal 10 70 700 115 2011 2126 Female B. Sc./Science/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 70 700 115 2011 2016	1119081 [DHANENDRA KUMAR		B. Sc./Science/III	Renewal	10	70	200	311	*****	2000	0707
Female B. Sc./Science/III Renewal 10 85 850 0 2011 212b Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 70 70 115 2011 2126	1146916 P	PRATUL SAHU		B. Com./Commerce/III	Renewal	10	70	2007	CTT 1112	1102	2170	2826
Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 70 700 115 2011 2156	1141039 B	BHUNESHWARI KASHYAP		B. Sc./Science/III	Renewal	10	85 S	000	CIT	707	2126	2826
Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/III Renewal 10 70 70 115 2011 2156	1211975 G	SEETA PATEL		B. A./Arts/III	Renewal	9	3 0	000	0	7011	2011	2861
Male B. Com./Commerce/III Renewal 10 70 700 115 2011 2013	1226706 K	CAMLA PATEL		B. A /Arts/II	Description	07	60 1	820	0	2011	2011	7861
Male B. Com./Commerce/III Renewal 10 70 700 115 2011 2126	1106004 D	ATENDOA STRAAD SADALL			VEHEWOI	OT	82	820	0	2011	2011	2861
THE PERSON NAMED IN COLUMN 1	N LECOCTI	SCHOOLS NOW INDAW		B. Com./Commerce/III	Renewal	10	70	4 700	115	2011	37126	3036

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the .as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ..Out of which Rs......as maintenance allowance and Rs. .. serial no. 1 to I do here by sanctioning a sum of Rs. ...

Place:

Date:

Page 2/6

Govt. College, Barpall DISH. - KORBA (C. G.)

PRINCIPAL

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018 CDISTT-KORBA (C.G.)

(Signature Sealed Bead of the Institution)

COWFINE CALIBECTE (SARRAL)

ient of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/3/10/80584

Sanction Date: 01/01/2018

pplication ID Student Name	Condi	STATE OF THE PARTY	SECTION SOCIOUS SECTIONS SECTIONS	THE REPORT OF THE PARTY OF THE	STORY SECTION					
		Course	Type	No. of	Rate	Maintenence	Tuition Fee Other Fee	Otther Fee	Total Fee	Total Amount
1227180 URVASHI KASHYAP	Female	B. A./Arts/II	Renewal	10	85	OLO OLO	STATES AND STATES OF THE PARTY	TATAL MANAGEMENT		
1227047 DEEPAK KUMAR DHIWAR	Male	B. Sc./Science/II	Penenal	9	3 8	000	0	2011	2011	2861
1231487 NITESH SHRIWAS	Male	R Cr /Crience/III	No. I CAROL	OT .	70	700	115	2011	2126	2826
1232005 SANIAY PATEI	Mala	o. oc. oceance/11	Kenewai	10	70	700	115	2011	2126	2826
	Lidie	B. A./Arts/II	Renewal	10	70	700	115	2011	2176	2000
1241636 UDAY YADAV	Male	B. A./Arts/II	Renewal	10	70	2007	110	1102	0717	9797
1242425 SARASWATI KUMARI	Female	B. A./Arts/II	Renewal	Q.	200	200	CIT	7011	2126	2826
1242773 KAVITA KASHYAP	Female	B. A./Arts/II	Icwarad	01 07	60	820	0	2011	2011	2861
1227238 HEENA KUMARI PATEL	Female	B A /Arts/TT	in a second	OT	8	820	0	2011	2011	2861
1243135 CAVATOT VINARDI		0. A./A.G/II	Kenewal	10	85	820	0	2011	2011	7861
1273133 GALAIRI NUMAKI	Female	B. Sc./Science/II	Renewal	10	85	050	•			
1243177 NISHA YADAV	Female	B. A./Arts/II	Renewal	Ç	3 6	000	0	7011	2011	2861
1243223 OMPRAKASH PATEL	Male	B. Sc /Science/II	0	21	6	820	0	2011	2011	2861
1242905 PUSHPA BAT	Comple	D 4 /4 - /12	Kellewal	10	70	200	115	2011	2126	2826
27.000	Leiligie	B. A./Arts/II	Renewal	10	85	850	0	2011	2011	1000
1251999 MADHU BARETH	Female	B. A./Arts/III	Renewal	10	RE	000			1107	7007
1243701 BHARTI KUMARI RATHORE	Female	B. Com./Commerce/II	Renewal	0	3 6	000	0	2011	2011	2861
1252874 RAVI KUMAR	Male	B. Com./Commerce/II	Renewal	0,	00 6	820	0	2011	2011	2861
1253066 JANSU JAISWAL	Male	R Sr /Srience/II		21	2	700	115	2011	2126	2826
1252771 KOMAI PRASAD	Malo	o on one well	Kenewai	10	20	700	115	2011	2126	2826
13C2172 AMILI MILITA CT1C3C1	Male	B. Com./Commerce/II	Renewal	10	70	2007	115	2011	2126	2826
12331/3 ANDU KUMAKI PATEL	Female	B. Sc./Science/II	Renewal	10	SC	010				2020

Declaration :

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise disagntinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period is detected. ...Out of which Rs..... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date: Place:

DISH. - KORBA (C. G.

PINCIPAL

Govt. College, Barpali

ent of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme :

Category: OBC

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

2

Sanction Number: R/7/1073/3/10/80584

Sanction Date: 01/01/2018

Male B. Sc./Science/II Renewal No. of Male Raine Mainementor Altary Tuitton Fee Other Fee Total Interprete Male B. Sc./Science/II Renewal 10 70 70 115 2011 215 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Male B. Com./Commerce/II Renewal 10 85 850 0 2011 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 Female B. C./Science/II Renewal 10 85 850 0 2011 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011	Application ID Student Name		1000年の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の	DESTINATION OF CASOMERS IN COMMERCE				Applications Type:	pe: Renewal	wal	
ART Male B. S.C./Science/III Renewal 10 70 70 115 2011 215 4R Male B. A./Arts/III Renewal 10 85 850 0 2011 2011 4R Male B. Com./Commerce/II Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 2011 The Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 The Female B. Con./Commerce/III Renewal 10 85 850 0 2011 2011 The Female B. A./Arts/II Renewal 10 85 850 0		iam bo	Course	Type	No. of	は開発	ntenence		The second	100	
AR Female B. A./Arts/III Renewal 10 70 700 115 2011 AR Male B. Com./Commerce/III Renewal 10 70 700 115 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 Male B. Com./Commerce/III Renewal 10 85 850 0 2011 Female B. A./Arts/III Renewal 10 85 850 0 2011 T Female B. A./Arts/III Renewal 10 85 850 0 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 SHVAP Female B. A./Arts/III Renewal 10 85 850 0 2011 201 SHVAP Bale B. A./Arts/III	1263978 LALIT KUMAR KAIVART	Male	B. Sc./Science/II	Donot in the second		9	owance		8		lotal Amount
AR Male B. Com,/Commerce/II Renewal 10 85 850 0 2011 Female B. Com,/Commerce/II Renewal 10 70 700 115 2011 Female B. A,Arts/II Renewal 10 85 850 0 2011 Female B. A,Arts/II Renewal 10 85 850 0 2011 Male B. Com,/Commerce/II Renewal 10 70 70 115 2011 T Female B. A,Arts/II Renewal 10 85 850 0 2011 Female B. A,Arts/II Renewal 10 85 850 0 2011 2011 SHYAP Female B. A,Arts/II Renewal 10 85 850 0 2011 2011 SHYAP Female B. A,Arts/II Renewal 10 85 850 0 2011 2011 2011 2011 2011 2011<	1253519 GEETA KASHYAP	Female	B A (Arte/III	Kenewal	10	70	700	115	2011	2126	2876
Female B. A./Arts/II Renewal 10 70 700 115 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 Male B. Com./Commerce/II Renewal 10 85 850 0 2011 Temale B. A./Arts/II Renewal 10 85 850 0 2011 T Female B. Com./Commerce/II Renewal 10 85 850 0 2011 T Female B. CA/Science/II Renewal 10 85 850 0 2011 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 SHYAP Female B. A./Arts/II Renewal 10 70 700 115 2011 2011 H Male B. A./	1263939 SANKARSAN KIIMAD	Mela	II/SIMINITE	Renewal	10	85	850	0	2011	2011	2 6
Female B. A./Arts/II Renewal 10 85 850 0 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 Male B. A./Arts/II Renewal 10 85 850 0 2011 Male B. Com./Commerce/II Renewal 10 70 700 115 2011 T Female B. A./Arts/II Renewal 10 85 850 0 2011 T Female B. A./Arts/II Renewal 10 85 850 0 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 SHVAP Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 SHVAP Female B. A./Arts/II Renewal 10 70 70 115 2011 2 BAW Bele B. A./Arts/II	No. 100	Male	B. Com./Commerce/II	Renewal	10	70	200		-	1107	7821
Female B. A,Arts/III Renewal 10 85 850 0 2011 Female B. A,Arts/III Renewal 10 85 850 0 2011 Male B. Com./Commerce/III Renewal 10 70 700 115 2011 T Female B. A,Arts/II Renewal 10 70 700 115 2011 T Female B. S. C/Science/III Renewal 10 85 850 0 2011 Female B. A,Arts/II Renewal 10 85 850 0 2011 SHVAP Female B. A,Arts/II Renewal 10 85 850 0 2011 DAV Male B. S. C/Science/II Renewal 10 70 700 115 2011 SHVAP Female B. A,Arts/II Renewal 10 70 70 2011 2011 H Male B. A,Arts/II Renewal	1265452 LATA YADAV	Female	B. A./Arts/II	Renowal		2	00/	115	2011	2126	2826
Female B. A./Arts/II Renewal 10 85 850 0 2011 Male B. Com./Commerce/II Renewal 10 70 700 115 2011 T Female B. A./Arts/II Renewal 10 70 700 115 2011 T Female B. C./Science/II Renewal 10 70 700 115 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. S.C./Science/II Renewal 10 85 850 0 2011 2 3.1 Male B. A./Arts/II Renewal 10 70 700 115 2011 2 3.1 Male B. A./Arts/III Renewal 10 70 700 115 2011 2 4.	1263876 SHARDA YADAV	Female	B. A./Arts/II	Donous	10	85	820	0	2011	2011	2861
Male B. Com./Commerce/II Renewal 10 85 850 0 2011 Temale B. Com./Commerce/II Renewal 10 70 700 115 2011 T Female B. Com./Commerce/II Renewal 10 85 850 0 2011 T Female B. Sc./Science/II Renewal 10 85 850 0 2011 SHVAP Female B. A./Arts/II Renewal 10 85 850 0 2011 SHVAP Female B. A./Arts/II Renewal 10 85 850 0 2011 BAY Female B. A./Arts/II Renewal 10 85 850 0 2011 2011 BAY Male B. A./Arts/II Renewal 10 70 700 115 2011 2011 Bale Bale B. A./Arts/III Renewal 10 70 70 115 2011 2011	1265489 SANGEETA PATEL	Female	R A /Arte/III	veliewali	10	82	850	0	2011	2011	2861
Female B. A./Arts/II Renewal 10 70 700 115 2011 Male B. A./Arts/II Renewal 10 85 850 0 2011 T Female B. S.C./Science/II Renewal 10 85 850 0 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. S.C/Science/II Renewal 10 70 70 115 2011 I. Male B. A./Arts/II Renewal 10 70 70 115 2011 Male B. A./Arts/II Renewal 10 70 70 115 2011 Male B. A./Arts/III Renewal 10 70 70 115 2011	1265492 HARI CHARAN	Male	B Com (Commontity	Kenewal	10	85	850	0	2011	2011	2861
Male B. Com./Commerce/II Renewal 10 85 850 0 2011 T Female B. Sc./Science/II Renewal 10 70 700 115 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. S./Arts/II Renewal 10 70 70 115 2011 I. Male B. A./Arts/II Renewal 10 70 70 115 2011 Male B. A./Arts/II Renewal 10 70 70 115 2011 2011 Male B. A./Arts/II Renewal 10 70 70 115 2011 2011 Male B. A./Arts/III Renewal 10 70 70 115 2011	1269074 CHANCHAL SAHU	Female	B A /Ade/II	Kenewal	10	20	200	115	2011	2126	2826
T Female B. Sc./Science/II Renewal 10 70 700 115 2011 Female B. Sc./Science/II Renewal 10 85 850 0 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. Sc./Science/II Renewal 10 70 700 115 2011 Ala Bale B. A./Arts/II Renewal 10 70 700 115 2011 Male B. A./Arts/III Renewal 10 70 700 115 2011 Male B. A./Arts/III Renewal 10 70 700 115 2011	1270801 SANDEEP KUMAR	Mel	D. A./A.G/11	Renewal	10	85	850	0	2011	2011	1300
Female B. SC,/Science/II Renewal 10 85 850 0 2011 Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. S.C,/Science/II Renewal 10 70 700 115 2011 Ala B. A./Arts/II Renewal 10 70 700 115 2011 Male B. A./Arts/II Renewal 10 70 70 115 2011 Male B. A./Arts/III Renewal 10 70 70 115 2011	1265468 SUKHMATT MAHANT	200	b. com./commerce/II	Renewal	10	70	700	115	2011	3616	200
Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. Sc./Science/II Renewal 10 70 700 115 2011 Ala B. A./Arts/II Renewal 10 70 700 115 2011 Male B. A./Arts/III Renewal 10 70 70 115 2011 Male B. A./Arts/III Renewal 10 70 70 115 2011		Leurane	B. Sc./Science/II	Renewal	10	20	020		-	0717	9787
Female B. A./Arts/II Renewal 10 85 850 0 2011 SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. Sc./Science/II Renewal 10 70 700 115 2011 IL Male B. A./Arts/II Renewal 10 70 70 115 2011 Male B. A./Arts/II Renewal 10 70 70 115 2011 Male B. A./Arts/III Renewal 10 70 70 115 2011	12/1332 RAJ KUMARI		B. A./Arts/II	Donous		60	820	0	2011	2011	2861
SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. Sc./Science/II Renewal 10 85 850 0 2011 I.L Male B. Sc./Science/II Renewal 10 70 70 700 115 2011 Male B. A./Arts/II Renewal 10 70 70 700 115 2011 Male B. A./Arts/III Renewal 10 70 70 70 115 2011	1271396 JYOTI KAUSHIK		R A /Arte/II	Keriewal	10	85	850	0	2011	2011	2861
Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. S.C/Science/II Renewal 10 70 70 700 115 2011 Alaie B. A./Arts/II Renewal 10 70 70 700 115 2011 Male B. A./Arts/III Renewal 10 70 70 700 115 2011	1280037 DIIDGA MIMART	1	D. A./AII (3/11	Renewal	10	85	850	0	2044		200
SHYAP Female B. A./Arts/II Renewal 10 85 850 0 2011 DAV Male B. Sc./Science/II Renewal 10 70 70 115 2011 II. Male B. A./Arts/II Renewal 10 70 70 70 115 2011 Male B. A./Arts/III Renewal 10 70 70 70 115 2011	COCCA NOMBRI		B. A./Arts/II	Renewal	10	SC	0 0		7107	2011	2861
DAV Male B. Sc./Science/II Renewal 10 85 850 0 2011 :L Male B. A./Arts/II Renewal 10 70 70 700 115 2011 Male B. A./Arts/III Renewal 10 70 70 700 115 2011	12/12/1 LAXMIN KUMARI KASHYAP		B. A./Arts/II	Donord		8	820	0	2011	2011	2861
I.L Male B. A./Arts/II Renewal 10 70 70 700 115 2011 Male B. A./Arts/III Renewal 10 70 70 115 2011	1280306 RAMESH KUMAR YADAV		B Sc /Science/II	ncilewall	10	82	850	0	2011	2011	2861
Male B. A./Arts/II Renewal 10 70 70 115 2011 Male B. A./Arts/III Renewal 10 70 700 115 2011	1280142 VISHWANATH PATEL		B A /Aste/II	Kenewai	10	70	200	115	2011	2126	2826
Male B. A./Arts/III Renewal 10 70 70 2011	1295134 SARTAJ KHAN		D. A./M.S/III	Renewal	10	70	700	115	2011	2126	2000
Male B. A./Arts/III Renewal 10 70	1297110 PRASHANT KIIMAD		b. A./Arts/II	Renewal	10	70	700	115	2011	31.36	707
700 700			8. A./Arts/III	Renewal	10	70	700	115	2001	2170	7870

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theOut of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

Date :

Govt. College, Barpali DISH. - KORBA IC.

(SignatuPrelistalforhead of the Institution)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

ment of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/3/10/80584 Sanction Date: 01/01/2018

Applications Type

							opplications Type.	ype . Reliewal	IPMA	
Application ID Student Name	Gender	Course	Туре	No. of Month	Rate Mai	Maintenence Tu	iition Fee O	Other Fee	Total Fee	Total Amount
1301371 DAMINI YADAW	Female	B. A./Arts/II	Renewal	10	85	850	0	2011	2011	2861
1287463 SURESH KAIWART	Male	B. A./Arts/II	Renewal	10	70	700	115	2011	2126	2826
1343517 JAYA RAHUORE	Female	B. Sc./Science/II	Renewal	10	85	850	0	2011	2011	2861
1358130 DIVYA MAHANT	Female	B. A./Arts/III	Renewal	10	85	850	0	2011	2011	2861
1360382 POOJA NIRMALKAR	Female	B. Sc./Science/II	Renewal	10	85	850	0	2011	2011	2861
1360397 REVTI BARETH	Female	B. A./Arts/III	Renewal	10	85	850	0	2011	2011	2861
1369945 MITHALESH KUMARI	Female	B. Sc./Science/II	Renewal	10	85	850	0	2011	2011	2861
1351712 ANUPA KUMARI PATEL	Female	B. A./Arts/III	Renewal	10	85	850	0	2011	2011	2861
1379779 KAUSHILYA KUMARI	Female	B. A./Arts/II	Renewal	10	85	850	0	2011	2011	2861
1379755 KOMLESH KUMAR	Male	B. A./Arts/II	Renewal	10	70	700	115	2011	2126	2826
1380075 DINESH KUMAR	Male	B. Sc./Science/II	Renewal	10	70	700	115	2011	2126	2826
1380874 KAUSHAL KUMAR	Male	B. A./Arts/III	Renewal	10	70	700	115	2011	2126	2826
1388445 MORDHAWAJ KUMAR	Male	B. A./Arts/III	Renewal	10	70	700	115	2011	2126	2826
1388465 NANDINI PATEL	Female	B. A./Arts/III	Renewal	10	85	850	0	2011	2011	2861
1380574 ANJANI KUMARI	Female	B. Com./Commerce/III	Renewal	10	85	850	0	2011	2011	2861
1388494 SARSWATI KUMARI	Female	B. Com./Commerce/II	Renewal	10	85	850	0	2011	2011	2861
1394103 FULESHWARI KUMARI	Female	B. A./Arts/II	Renewal	10	85	850	0	2011	2011	2861
1388618 PUSHPA PATEL	Female	B. Com./Commerce/III	Renewal	10	85	850	0	2011	2011	1,2861
	THE RESIDENCE OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAME									

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.as maintenance allowance and Rs.Out of which Rs.... serial no. 1 to I do here by sanctioning a sum of Rs.

Date : Place:

Govt. C

Distt. - KORB

Government Seaf of Head of the Institution)

DISTT-KORBA (C.G.)

nent of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: R/7/1073/3/10/80584 Sanction Date: 01/01/2018

Q Q	B. Sc./Science/II		THE REAL PROPERTY AND ADDRESS OF THE PARTY AND	The same of the sa	Contract of the Contract of th				
Male R Male Female MARI KASHYAP Female	. Sc./Science/II		No. of	Rate Ma	intenence	Tuition Fee (Other Fee	Total Fee	
R Male Female MARI KASHYAP Female		Renewal		The same of the sa	lowance				
Female MARI KASHYAP Female	B. A./Arts/II	Donoul	27	2	700	115	2011	2126	2826
MARI KASHYAP Female	R Sc /Science/II	Reliewal	10	70	200	115	2011	2126	2826
200	B. A. /Arts/III	Kenewal	10	85	820	0	2011	2011	2861
Mala	m/cm/m/m	Renewal	10	82	850	0	2011	2011	900
rigie	B. Sc./Science/II	Renewal	10	70	700	115	2011	2000	1007
Female	B. Com./Commerce/III	Renewal	10	OE	010		7107	7179	2826
1409649 AKHILESH KUMAR YADAV Male B. C	B. Com./Commerce/II	Demonad	2 9	60	820	0	2011	2011	2861
1396823 JAMUNA KUMARI Female B A	B A /Arts/II	NCI CWG	10	70	200	115	2011	2126	2826
	A /Anter/III	Kenewal	10	85	850	0	2011	2011	7861
40	D. A./AIS/III	Renewal	10	70	200	115	2011	2000	
Female	B. A./Arts/III	Renewal	10	20			1107	7179	2826
1399130 PURNIMA KUMARI Female B. A	B. A./Arts/II	Penemal	0 0	60	820	0	2011	2011	2861
1420042 ANITA BARETH Female B. A	B. A /Arts/II	NG ICWG	10	85	820	0	2011	2011	2861
T	** for for	Kerlewai	10	82	820	0	2011	2011	300
Leuigie	B. A./Arts/II	Renewal	10	85	850	0	2011	2001	1007
remale	B. Sc./Science/III	Renewal	10	85	850	0	2011	2011	1987
				Total:	81100	5060	207133	-	1007

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ..Out of which Rs.....as maintenance allowance and Rs.

293293

212193

Date: Place:

Govt. College, Barpali DISH. - KORBAIC. 6

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

COV SIER BUTE & SEA BATTER DE the Institution)

PRINCIPAL

Salyction Register for Scholarship 2017 - 17

Institute Name: GOVT. COLLEGE BARPALI

Category:

Scholarship Scheme :

Government of Chhattisgarh

Academic Year: 2017 - 18

Post Matric SC Scholarship

0

Government of Chhattisgarh State:

Sanction Number: N/7/1073/1/9/80586 Sanction Date: 01/01/2018

Application ID Strictent Name		TO STATE STA	Ministrative statement and property of							
	Sender	Course	Туре	No. of	Rate	laintenence	Tillion zee	Bath Bath	1 5	THEOPETIMENTON
1343322 SURENDRA KUMAR	Male	B. A./Arts/I	Cook Spinson Spinson	122		Allowance			lotal Fee	Total Amount
212583 Jyoti 'Banjare	Female	M Com (Comme	USAL	6	300	2700	0	2311	2311	5011
1318847 VIKAS CINCL		ri. colli./commerce/I	Fresh	6	530	4770	0	2000		
HONIC CHINA STORE	Male	B. Com./Commerce/I	Fresh	0	000	000	0	3001	3001	1777
1331401 DILESHWAR PRASAD	Male	B. A./Arts/I	Frech	0	2000	2700	0	2311	2311	5011
1353074 AKSHAY KUMAR MIRI	Male	B. Sc./Science/T		00	300	2400	0	2311	2311	4711
1355218 Pratibha Lahre	Female	B. Com /Commerce/I	TICS!	6	300	2700	0	2311	2311	5011
1360300 JYOTI MIRI	Female	B Co /Coissant	rresn	6	300	2700	0	2311	2311	5011
1320826 DEVENDRA KIIMAR DATTOE	Male	o. oc. ocelice/1	Fresh	89	300	2400	0	2311	3311	
1360002	Ligic	B. A./Arts/I	Fresh	6	300	2700		-	1167	4/11
1300997 KAVIKANT KUMAR	Male	B. Sc./Science/I	Frach		200	2700	0	2311	2311	5011
1366723 RAJESH KUMAR	Male	B. Sc /Science/I		6	300	2700	0	2311	2311	5011
1367130 SARASWATI KUMARI	Female	B Com (Commey)	Fresh	6	300	2700	0	2311	2311	100
1367628 JOYTT DIWAYAD	2	e. com./commerce/I	Fresh	6	300	2700	C	2344		
NOW IN THE REAL PROPERTY OF THE PERTY OF THE	remale	B. A./Arts/I	Fresh	0	-	-		1167	7311	S
1373110 RAVI KUMAR	Male	B. A./Arts/I	Front	0	300	2400	0	2311	2311	4
1375434 DEEPIKA TANDAN	Female	D A (Adam)	S	6	300	2700	0	2311	2311	-
1376103 CANCA MIMARY	oli di	b. A./Arts/1	Fresh	8	300	2400	0		2777	0
TOTAL ON WORKE	Female	B. Sc./Science/I	Fresh	0	000	2017	0	7311	2311	4.
1360921 VIRENDRA KUMAR	Male	B. A./Arts/I	Land Land		300	2700	0	2311	2311	5011
1377377 PALLAVI KUMARI	Fomalo	0 5-10-1	rresn	6	300	2700	0	2311	2311	
the second secon	Ciliaic	b. sc./sdence/I	Fresh	6	300	0000			1100	n

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.Out of which Rs......as maintenance allowance and Rs.

5011

Place: Date

Page 1/3

Govt, College, Barpali DISH. - KORBA IC. G.

PRINCIPAL

GOVT!! COMMEDE BARPALI DISTT-KORBA (C.G.)

(Signatu Red Kal Bailead of the Institution)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

of Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

20

Sanction Number: N/7/1073/1/9/80586

Sanction Date: 01/01/2018

POSSESSION OF COMPANY	新型工品材料	* ENGINEERING SALES AND ADDRESS OF THE PERSONS NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TW	This is the first first first from the second secon								
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1377291	1377291 MAMTA KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0	7311	2311	1105
1377529	1377529 PRATIMA KUMARI	Female	B. A./Arts/I	Fresh	8	300	2400	0	2311	7311	3011
1377861	1377861 SURJIT KUMAR ADILE	Male	B. Sc./Science/I	Fresh	80	300	2400	0 0	7311	1107	11/4
1376904	1376904 ALISHA KURREY	Female	B. Sc./Science/I	Fresh	6	300	2700	0 0	2311	2311	4/11
1378168	1378168 DINESH KUMAR	Male	B. A./Arts/I	Fresh	6	300	2700	0 0	2311	1166	1100
1377940	1377940 SAVITRI KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2200	0	3211	1167	2011
1381134	1381134 JAYANTILATA KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0 0	2311	1162	5011
1380988	1380988 DILESHWARI KURRE	Female	B. A./Arts/I	Fresh	6	300	2700		2311	1162	5011
1381306	1381306 RANJANA KUMARI	Female	B. A./Arts/I	Fresh	6	300	2200		1162	1167	1100
1381560	1381560 SANTOSHI KURRE	Female	B. A./Arts/I	Fresh	0	300	27.00	0 0	1167	1162	5011
1382006	1382006 APARNA DIWAKAR		R Com /Commerce/T	Front	0	000	2/00	0	1187	2311	5011
1386778	1386778 CHDANDHA MIMADI CAUVAD	I	o. com/commerce/1	ISIL	7	300	2700	0	2311	2311	5011
2000	SI INADDITA KULIAKI SAHNAK		B. Sc./Science/I	Fresh	7	300	2100	0	2311	2311	4411
1391393	1391393 DULESHWARI KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
1393709	1393709 Yashwendra Kurrey	Male	B. Sc./Science/I	Fresh	6	300	2700	C	2311	2311	1100
1399896	1399896 RAHUL KUMAR	Male	B. Sc./Science/I	Fresh	6	300	2200	0	3311	1107	1100
1403891	1403891 URMILA KUMARI	Female	B. A./Arts/I	Fresh	o	300	3200		11107	1167	5011
1404189	1404189 SUBHADRA KUMARI	Female	B Sc /Science/T	Eroch	0	000	2007	0	2311	1167	5011
CACACAA			or or ordered 1	LESI	7	300	2700	0	2311	2311	5011
1404343	1404343 KAVITA KUMAKI	Female	B. A./Arts/I	Fresh	6	300	2700	C	2211	2211	

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certifled that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ..as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...Out of which Rs.....as maintenance allowance and Rs. serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date : Place:

Govt. College, Barpall DASH. - KORBA (C.

(Signature Research of the Institution) GONAMICGERITHASIEBARRALI

DAST'T-KOPBA (C.G.)

f Chhattisgarh

Post Matric SC Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: N/7/1073/1/9/80586

Sanction Date: 01/01/2018

Centile Name Centile URVASHI KUMARI Female B. A./Arts/I SEEMA KUMARI Female B. A./Arts/I NANDANI KUMARI Female B. Sc./Scien SHASHI KANT Male B. A./Arts/I AMOS LAHARE Female B. Sc./Scien AMOS LAHARE Female B. Sc./Scien ANJU RATRE Female B. A./Arts/I SHAKUNTLA AANAND Female B. A./Arts/I SHAKUNTLA AANAND Female B. A./Arts/I ASHWANI KUMAR Male B. A./Arts/I OM PRAKASH Male B. A./Arts/I	SECTION SECTION	STATES OF STREET, STRE	THE RESERVE OF THE PARTY OF THE	SERVICE SECURE AND ADDRESS OF THE PERSON NAMED IN COLUMN 1							
MARI Female B. A/Arts/I Fresh 9 300 2700 0 2311 2311 MAI Female B. A/Arts/I Fresh 9 300 2700 0 2311 2311 MAI Female B. Sc/Solence/I Fresh 9 300 2700 0 2311 2311 S Male B. Sc/Solence/I Fresh 9 300 2700 0 2311 2311 S Male B. Sc/Solence/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. Sc/Solence/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. A/Arts/I Fresh 9 300 2700 0 2311 2311 ANA Male B. A/Arts/I Fresh 9 300 2700 0 2311 2311 ANA B. B	Application 1D Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	-	Total Amount
UARI Female B. A/Arts/I Fresh 9 300 2700 0 2311 2311 IARI Female B. Sc,/Science/I Fresh 9 300 2700 0 2311 2311 2311 Alale B. Sc,/Science/I Fresh 9 300 2700 0 2311 2311 2311 Sisterial B. Sc,/Science/I Fresh 9 300 2700 0 2311 2311 2311 Interval B. Sc,/Science/I Fresh 9 300 2700 0 2311 2311 AAVAND Female B. A.Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A.Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A.Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A.Arts/I	1404470 URVASHI KUMARI	Female	B. A./Arts/I	Fresh	0	300	OOZC	PARTICULAR SERVICED.			
WRI Female B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 MRI B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 Male B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 Male B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 I Female B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ARA Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A./Arts/I Fresh 9 300 2700<	1404586 SEEMA KUMART	Formalo	O A (A de de //			200	00/7	0	2311	2311	5011
MARI Female B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 Male B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 S. Sc./Science/I Fresh 9 300 2700 0 2311 2311 S. Sc./Science/I Fresh 9 300 2400 0 2311 2311 AAAND Female B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 AAAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AAR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AAR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AAR Male B. A./Arts/I Fresh 9 300 2700 0 23		Leiligie	b. A./Arts/1	Fresh	6	300	2700	0	2311	2311	5011
Male B. Sc,/Science/I Fresh 9 300 2700 0 2311 2311 Male B. A/Arts/I Fresh 9 300 2700 0 2311 2311 2311 I Famale B. Sc,/Science/I Fresh 9 300 2700 0 2311 2311 2311 AAND Female B. A/Arts/I Fresh 9 300 2700 0 2311 2311 2311 ARR Male B. A/Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A/Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A/Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A/Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A/Arts/I Fr	1404741 NANDANI KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	C	3344	3244	1
Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 Male B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ARA Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ARR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AMRE Male B. A./Arts/I Fresh 9 300	1405639 SHASHI KANT	Male	B. Sc./Science/I	Fresh	O	300	2200		1167	2311	5011
Male B. Sc./Science/I Fresh Fr	1390504 CHHEDLI RAM	Malo	D A (Autor)		,	200	7/00	0	2311	2311	5011
Male B. Sc./Science/I Fresh 8 300 2400 0 2311 2311 I Female B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 <		Fide	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
Female B. Sc,/Science/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 7 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AMRE Male B. A./Arts/I Fresh 9 <t< td=""><td>1408376 AMOS LAHARE</td><td>Male</td><td>B. Sc./Science/I</td><td>Fresh</td><td>00</td><td>300</td><td>2400</td><td>C</td><td>2311</td><td>2000</td><td>1100</td></t<>	1408376 AMOS LAHARE	Male	B. Sc./Science/I	Fresh	00	300	2400	C	2311	2000	1100
I Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 ANAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 Alake B. A./Arts/I Fresh 9 300 2700 0 2311 2311 Alake B. A./Arts/I Fresh 9 300 2700 <	1406161 ANJU RATRE	Female	B. Sc./Science/I	Fresh	a	300	2200	0	1167	1187	4/11
ANAND Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AAR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 Alae B. A./Arts/I Fresh 9 300 2400 0 2311 2311 Alae B. A./Arts/I Fresh 8 300 2400 0 2311 2311	1409760 KANTI KUMARI	Famala	O A (Autoff			200	2700	0	1187	2311	5011
ANAND Female B. A,Arts/I Fresh B 300 2400 0 2311 2311 AAR Male B. A,Arts/I Fresh 9 300 2700 0 2311 2311 AAR Male B. A,Arts/I Fresh 7 300 2100 0 2311 2311 AHRE Male B. A,Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A,Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A,Arts/I Fresh 9 300 2400 0 2311 2311 AHRE Bale B. A,Arts/I Fresh 9 300 2400 0 2311 2311		Cilialo	D. A./AIG/1	Fresh	6	300	2700	0	2311	2311	5011
AAR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AAR B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 AHRE Bale B. A./Arts/I Fresh 9 300 2400 0 2311 2311	1424339 SHAKUNTLA AANAND	Female	B. A./Arts/I	Fresh	8	300	2400	C	2211	2244	
IAR Female B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 Alae B. A./Arts/I Fresh 8 300 2400 0 2311 2311	1423293 ASHWANI KUMAR	Male	B. A./Arts/I	Frech	C	000	0000		1162	7311	4/11
IAR Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311	1438273 ANJALI MIRI	Formula	200		2	200	7/00	0	2311	2311	2011
IAR Male B. A./Arts/I Fresh 7 300 2100 0 2311 2311 AHRE Male B. Sc./Science/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 Male B. A./Arts/I Fresh 8 300 2400 0 2311 2311 Total 116240 116240 116240 116240 116240 116240		District	D. A./AICS/1	Fresh	6	300	2700	0	2311	2311	5011
AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 AHRE Male B. A./Arts/I Fresh 9 300 2400 0 2311 2311 Total 116240 116240 116240 116240 116240	1439048 SANTOSH KUMAR	Male	B. A./Arts/I	Fresh	7	300	2100	C	*****	*******	
AHRE Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 Male B. A./Arts/I Fresh 8 300 2400 0 2311 2311 Total: 133170 0 116240 116240	1442117 OM PRAKASH	Male	B. Sc./Science/I	Frach		0 00	0047		7311	7311	4411
Male B. A./Arts/I Fresh 9 300 2700 0 2311 2311 Male B. A./Arts/I Fresh 8 300 2400 0 2311 2311 Total: 133170 0 116240 116240	1454002 VIDBAHANID LAUDE			50.	6	300	7/00	0	2311	2311	5011
Male B. A./Arts/I Fresh 8 300 2400 0 2311 2311 Total: 133170 0 116240 116240 116240 116240	1157505 VINBAHADOR LAHKE	Male	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
133170 0 116240 115240	1430332 DIPAK KUMAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	2311	2311	4711
						Total:	133170	0	116240	116240	240410

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the peripd jt is detected.Out of which Rs.....as maintenance allowance and Rs. ... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Place:

Date:

Page 3/3

Govt. College, Barpali DISH - KORBAIC.

OVNemed Capital teters (27 AL)

(Signature & Seal of Head of the Institution)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

CHARTY KORBA (C.G.)

of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh

N/7/1073/2/7/80563 Sanction Number:

Sanction Date: 01/01/2018

Applications Type: Fresh

mount	5011	4711	4411	5011	5011	5011	4711	5011	5011	5011	5011	5011	5011	5011	5011	5011	5011
Total A																	
Total Fee	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311
ree other ree	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311
uition Fee	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
aintenence T Allowance	2700	2400	2100	2700	2700	2700	2400	2700	2700	2700	2700	2700	2700	2700	2700	2700	2700
Rate M.	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300
No. of Month	6	8	7	6	6	6	89	6	6	6	6	6	6	6	6	6	6
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh
Course	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. Com./Commerce/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	B. A./Arts/I
Gender	Male	Male	Male	Male	Male	Male	Female	Male	Female	Female	Female	Female	Female	Female	Female	Female	Male
plication ID Student Name	1329082 BALRAM SINGH	1323319 POONAM CHAND	1343221 MANOHAR SINGH	1343303 BRIJESH KUMAR	1358015 TANKESHWAR SINGH	1353487 YOGESH KUMAR KANWAR	1358108 SUSHMA KUMARI	1358647 Baldev Sing kanwar	1359464 TULESHWARI KUMARI	1358105 PUSHPA BINJHWAR	1359505 SHANTI GOND	1359528 TULIA KANWAR	1359613 PUSHPA KUMARI	1359643 GANGOTRI KUMARI	1359667 RIMA KUMARI	1359726 SUNITA KUMARI	1360321 RAMESH KUMAR .

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ..as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. .Out of which Rs.....as maintenance allowance and Rs. .. serial no. 1 to I do here by sanctioning a sum of Rs.

Date: Place:

Page 1/7

Govt College, Barpali DIEH. - KORBA (C. G.

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018 CONTINUES KA

Signature & Seal of Head of the Institution)

pring (Sepital Leters) prost

of Chhattisgarh

Post Matric ST Scholarship Scholarship Scheme:

ST Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh

N/7/1073/2/7/80563 Sanction Number: State:

01/01/2018 Applications Type: Fresh Sanction Date:

Gender	Course	Туре	No. of Month	Rate	Maintenence Tuit	Tuition Fee 0	Other Fee T	Total Fee T	Total Amount
8	B. Sc./Science/I	Fresh	8	300	2400	0	2311	2311	4711
œ.	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
89	B. A./Arts/I	Fresh	7	300	2100	0	2311	2311	4411
8	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
8	B. A./Arts/I	Fresh	8	300	2400	0	2311	2311	4711
8	B. A./Arts/I	· Fresh	6	300	2700	0	2311	2311	5011
8	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
.00	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
89	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
60	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
B	B. A./Arts/I	Fresh	7	300	2100	0	2311	2311	4411
8	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
8	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
8	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
B	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
m	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
8	B. Sc./Science/I	Fresh	6	300	2700	0	2321	2321	5021
8	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ...as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs. ..

Place:

Date

DISH. - KORBA (C. G.) Spyl. College, Barpal

PRINCIPAL

Warner (Ganitacheters) No AL WANT KOPRA (C. ..

*

(Signature & Seal of Head of the Institution)

of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

ST Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: N/7/1073/2/7/80563

Sanction Date: 01/01/2018

Applications Type: Fresh

1376321 KARAN KUMAR	The second second				THE REAL PROPERTY AND ADDRESS OF THE PARTY AND					The second secon
	Bennet	Course	Туре	No. of Month	Rate Mall	owance Turb	non ree			
	Male	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
	Male	B. A./Arts/I	Fresh	8	300	2400	0	2311	2311	4711
NWAR	Female	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
	Female	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
	Male	B. Com./Commerce/I	Fresh	6	300	2700	0	2311	2311	5011
NWAR	Female	B. A./Arts/I	Fresh	7	300	2100	0	2311	2311	4411
ANWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
T	Male	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
MARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	2311	2311	4411
NWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
~	Male	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
T	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
8	Male	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
	Male	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
IARI	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ...as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.as maintenance allowance and Rs.Out of which Rs... serial no. 1 to I do here by sanctioning a sum of Rs.

Place:

Date:

Page 3/7

Govt. College, Barpali PRINCIPAL

Distt. - KORBA (C. G.)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

(Signature & Seal-of Head of the Institution)

Mame, (Capital Leters) R. A. Land ROBOR IC.

Chhattisgarh

Post Matric ST Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh

Sanction Number: N/7/1073/2/7/80563

01/01/2018 Sanction Date:

ppiication ID	student name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1378023	1378023 PANKAJ SINGH	Male	B. A./Arts/I	Fresh	6	300	2700		2311	7211	100
1375868	1375868 SHWETA KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0 0	13311	1167	1100
1378094	1378094 NISHA KANWAR	Female	B. A./Arts/I	Fresh	6	300	2700		1162	2311	5011
1381850	1381850 RAJESHWARY KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700		1162	7311	5011
1380431	1380431 RAJA BABU	Male	B. A./Arts/I	Fresh	6	300	2700		1167	7311	5011
1384143	1384143 TERAS BAI	Female	B. A./Arts/I	Fresh	6	300	2200	0	1162	1167	5011
1389028	1389028 CHUNAMANI KANWAR	Male	B. Sc./Science/I	Fresh	6	300	2200	0	1167	1162	5011
1389208	1389208 SHASHI KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2200	0	1107	1167	2011
1389427	1389427 MAHAVEER KUMAR	Male	B. Com./Commerce/I	Fresh	7	300	2700		1167	2311	5011
1388900	1388900 SANJAY KUMAR	Male	B. Sc./Science/I	Fresh	0	300	2700	0	1167	1167	4411
1389539	1389539 HEM SINGH KUMAR	Male	B. Sc./Science/I	Fresh	0	300	2700	0 0	1162	1167	5011
1389786	1389786 DILESHWARI KUMARI KANWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1390345	1390345 ANITA KANWAR	Female	B. Sc./Science/I	Fresh	6	300	2700	0	2344	2211	
1389928	1389928 NAMRATA KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2200	0 0	7211	1162	2011
1390061	1390061 PRATIBHA KANWAR	Female	B. A./Arts/I	Fresh	6	300	2200	0 0	1166	1107	201
1391550	1391550 RIMA KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0 0	2311	2311	5011
1393081	1393081 SHUBHAM KUMARI	Female	B. A./Arts/I	Frech	o	300	0020	0	1100	1107	301

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ...Out of which Rs......as maintenance allowance and Rs. ... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date: Place:

Govt. College, Barpali Distt. - KORBA (C. G.

OWPINE OBDESCRIPTION OF THE PALL

(Signatu Prante Head of the Institution)

ADISTT-KORBA (C. 9.)

Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name : GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

N/7/1073/2/7/80563 Sanction Number:

01/01/2018 Sanction Date:

	Academic Year: 2017 - 18	STATE S						Applications Type :	Type: Fresh		
Application ID	Student Name	Gender	Course	Type	No. of Month	Rate M	Maintenence 1	Tuition Fee	Other Fee	Total Fee	Total Amount
1390188	1390188 NAGEETA KANWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1394614	1394614 Dinesh kumar	Male	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
1393545	1393545 AVINASH KANWAR	Male	B. Com./Commerce/I	Fresh	7	300	2100	0	2311	2311	4411
1399737	1399737 SAROJ KUMARI	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1400044	1400044 POOJA KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
1400342	1400342 GANGA BAI	Female	B. Sc./Science/I	Fresh	6	300	2700	0	7311	2311	5011
1400946	1400946 BINDIYA KUMARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	2311	7311	4411
1401108	1401108 MANISHA KANWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1401419	1401419 PANCH KUMARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	7311	2311	4411
1401584	1401584 LALITA KUMARI	Female	B. A./Arts/I	Fresh	6	300	2700	0	7311	7311	5011
1402998	1402998 MANISHA BINJHWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1396641	1396641 PRIYA KANWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	7311	5011
1403281	1403281 RAJESHWARI KANWAR	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1403550	1403550 KANHAIYA LAL	Male	B. Com./Commerce/I	Fresh	6	300	2700	0	7311	2311	5011
1403414	1403414 BHARTI KUMARI	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	7311	5011
1404851	1404851 SULOCHNA KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
1403781	1403781 GANESHI KUMARI	Female	B. Sc./Science/I	Fresh	6	300	2700	0	2311	2311	5011
1404970	1404970 JAGDISH PRASAD	Male	B. Sc./Science/I	Fresh	80	300	2400	0	2311	2311	4711

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the perigd it is detected.as maintenance allowance and Rs.Out of which Rs..... serial no. 1 to I do here by sanctioning a sum of Rs.

Place: Date

Page 5/7

MStt. - KORBA (C. G.) Govt. College, Barpall PRINCIPAL

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

(Signature & Sear of Head of the Institution)

OV Name (Capital Leters) AL DESTT-RORBA (C.A.

Chhattisgarh

Post Matric ST Scholarship Scholarship Scheme:

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

N/7/1073/2/7/80563 Sanction Number:

01/01/2018 Sanction Date:

Applications Type: Fresh

al Fee Total Amount	2311 5011	2311 5011		2311 4711		2311 5011			2311 5011				2311 5011	2311 4711			
other Fee Total	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	2311	
Fuition Fee	0	0	0	0	0	0 -	0	0	0	0	0	0	0	0	0	0	
aintenence Allowance	2700	. 2700	2700	2400	2700	2700	2700	2700	2700	2700	2400	2700	2700	2400	2700	2700	
Rate M	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	
No. of Month	6	6	6	8	6	6	6	6	6	6	8	6	6	8	6	6	
Туре	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Fresh	Contract of the school of the contract of the school
Course	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. Sc./Science/I	B. A./Arts/I	B. Sc./Science/I	B. Sc./Science/I	B. Com./Commerce/I	B. A./Arts/I	THE RESERVE OF THE PARTY AND ADDRESS OF THE PARTY OF THE
Gender	Female	Male	Female	Female	Female	Female	Female	Female	Female	Male	Male	Male	Female	Female	Male	Female	Constitution of the last of the last
Student Name	1405427 DHANESHWARI KANWAR	1405545 SATISH KUMAR	1405736 SANGEETA KUMARI	1405816 SUNITA BINJHWAR	1405907 SOHAN BAI	1405240 KALYANI KUMARI	1406243 ANUSUIYA KUMARI	1406316 MADHU KUMARI	1406074 SUNITA MARAVI	1409376 SUNIL KUMAR	1409638 DEVENDRA KUMAR	1410532 DURGESH KUMAR	1408581 SUSHEELA KANWAR	1422998 PUSHPA KANWAR	1412905 KAILASH KUMAR	1425010 KAUSHILYA KANWAR	describe de la letra de la constanta de managamente de la constanta de la cons
Application ID	1405427	1405545	1405736	1405816	1405907	1405240	1406243	1406316	1406074	1409376	1409638	1410532	1408581	1422998	1412905	1425010	Statement of the last of the l

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.as maintenance allowance and Rs.Out of which Rs..... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Place:

Date:

Matt. - KORBA (C. C.) Govt. College, Barpal

PRINCIPAL

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

DASTT-KORBA (C.G.)

(Signature Self & Head of the Institution)

of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

N/7/1073/2/7/80563 Sanction Number:

01/01/2018 Sanction Date:

Applications Type: Fresh

plication ID Student Name	Gender	Course	Туре	No. of Month	Rate Mai	intenence Tuition	on Fee Oth	er Fee	rotal Fee To	otal Amount
1442460 VIMLESH KUMAR	Male	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1443391 PRIYA KUMARI	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
1445543 DIVYA KUMARI	Female	B. A./Arts/I	Fresh	6	300	2700	0	2311	2311	5011
and the second s	-	man commercial contract of the		above segment resources by	Total:	286200	0	251909	251909	538109

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of theas tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.Out of which Rs......as maintenance allowance and Rs. serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date: Place:

Page 7/7

Distt. - KORBA (C. Govt. College, Barpal

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

PRINCIPAL

(Signature & Seal of Head of the Institution)

T DASTT-KORRA IC.G.

ant of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme:

OBC Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: N/7/1073/3/10/80583

Sanction Date: 01/01/2018

Applications Type

の時代の日本の一大学の一大学の一大学の一大学の一大学の一大学の一大学の一大学の一大学の一大学	では、これで、 一般の 一般の	College College	の 日本	日日の日本の日日の日日の日日日日日日日日日日日日日日日日日日日日日日日日日日	BESTANDISTRACTOR	PATRICIA DE L'ANDRES DE L'ANDR	SENSON PROPERTY.			
		*	addi.	Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amour
1227559 RAJNISH KUMAR	Male	B. A./Arts/I	Fresh	6	55	405		TOTAL CANADA		Day Solding
1329128 JAY KISHAN	Male	B. A /Arts/I	Crock		6	493	IIS	2311	2426	2921
834525 SHFFTI A SAHII	Comple	· Imada	I GL	6	55	495	115	2311	2426	2921
Since Since Sould	remale	M. Com./Commerce/I	Fresh	6	120	1080	0.00	3001	1000	200
1331272 Kaushal prasad	Male	B. Sc./Science/I	Fresh	6	55	405		2000	2001	4081
1343259 SUMAN KUMARI	Female	B. A./Arts/I	Fresh	0	202	CCL	511	2311	2426	2921
1332031 MOHAN DAS	Male	B. A./Arts/I	Fresh	0	0 1	630	0	2311	2311	2941
1343356 PHOOLESH KUMAR KASHYAP	Male	B. Sc /Science/T	Front	7	S	. 495	115	2311	2426	2921
1358005 NIL KUMAR		B Sc /Science/T	ricali	6	25	495	115	2311	2426	2921
1358024 RAHUL KUMAR	Male	B A (Adel)		00	. 25	440	115	2311	2426	2866
1351625 RATENDBA KLIMAD VADAV	200	D. A./AID/1	Fresh	89	52	440	115	2311	2426	2866
SOCIALISM NOTIFICATION	Male	B. Sc./Science/I	Fresh	6	55	405	115	2344	2000	
1359583 AJAY KUMAR YADAW	Male	B. Com./Commerce/I	Fresh	0		201	CTT	1167	7476	2921
1359693 SUMESH KUMAR	Male	B. Com./Commerce/I	Froch	0 0	20	495	115	2311	2426	2921
1359768 SHYAM KUMAR	oleM	D A (Admit		9	25	495	115	2311	2426	2921
	- Jaic	B. A./AIIS/1	Fresh	7	55	385	115	2311	2426	304
1359485 CHETNA KAIWART	Female	B. A./Arts/I	Fresh	6	70	063		4400	0717	197
1359884 NEHA PATEL	Female	B. A./Arts/I	Fresh	0	2 00	000	0	7321	2321	2951
1360414 SANJAY KUMAR SAHU	Male	B. A./Arts/I	Froch	n 0	2 1	630	0	2311	2311	294
1359804 RAM CHANKAD	Maria			6	25	495	115	2311	2426	2921
NAME OF THE PERSON	Male	B. Sc./Science/I	Fresh	6	55	405	110	2266		

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ...as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs. ...

Place: Date:

Good, College, Barpali DISH. - KORBA IC. G.

PRINCIPAL

GOVP PROBLEGE BARPAL!

(Signatupative High Bead of the Institution)

MSTT-KORBA (C.G.)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

ant of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme:

OBC Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

30

Government of Chhattisgarh State:

Sanction Number: N/7/1073/3/10/80583

01/01/2018 Sanction Date:

Applications Type:

Application ID	Student Name	Gender	Course	Twne		2,40	Marie	The Park Market	But Substitute and	THE PARTY OF THE P	PROPERTY PROPERTY NAMED AND PARTY.
					Month	P P	Allowance	aa uonini	orner ree	Iotal Fee	Total Amount
1360837	1360837 GEETA KUMARI	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	2311	2941
1361075	1361075 LAXMI DAS	Male	B. Sc./Science/I	Fresh	6	55	495	115	2311	2426	7971
1361409	1361409 LOKESH KUMAR	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1364848	1364848 REETU KUMARI	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	2311	2041
1365989	1365989 ANJANI PATEL	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	7311	2941
1360803	1360803 PARMESHWAR KUMAR	Male	B. Sc./Science/I	Fresh	6	55	495	115	2311	2426	7971
1366175	1366175 PRIYANKA KASHYAP	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2941
1366834	1366834 SEEMA KUMARI	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	7311	2941
1366986	1366986 KAUSHILYA KASHYAP	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	2311	2041
1367356	1367356 ANITA KUMARI	Female	B. Sc./Science/I	Fresh	6	8	630	0	7311	2311	7941
1367719	1367719 PREETI KUMARI	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2041
1367799	1367799 JYOTI PATEL	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2941
1367971	1367971 KIRAN PATEL	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	7311	2941
1368059	1368059 LALITA KUMARI	Female	B. A./Arts/I	Fresh	8	70	560	0	2311	2311	2871
1368150	1368150 DEEPIKA SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	2311	2311	1080
1366306	1366306 ANJALI PATEL	Female	B. Sc./Science/I	Fresh	6	70	630	0	7311	2311	7041
1376806	1376806 NEELAM KASHYAP	Female	B. A./Arts/I	Fresh	8	70	260	0	2311	2311	2871
1377020	1377020 ISHWARI KUMARI	Female	B. A./Arts/I	Frech	r	OF F	007				-

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ...as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the pariod it is detected. ..Out of which Rs.....as maintenance allowance and Rs. ... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date : Place:

Gowt, College, Barpali

PRINCIPAL

JOHN (Gapitat beer DARPAL!

Signature & Seat of Mead of the Institution)

METT-HORBA (C.G.)

ent of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

N/7/1073/3/10/80583 Sanction Number:

Sanction Date: 01/01/2018

PECCHINERS	PROTESTINE LOSSONING MANAGEMENT	Service and the service and th					applications Type	y lype. Fresh	Sn	
Application ID Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Total Amount
1377108 MADHU LATA	Female	B. Sc./Science/I	Fresh	9	70	630	0	2311	7211	2044
1375722 AARTI KAIWART	Female	B. Com./Commerce/I	Fresh	60	70	095	0	3311	1167	1967
1378236 ANURAG KUMAR SHRIWAS	Male	B. Sc./Science/I	Fresh	0	5 12	AOE	0 4+	7311	2311	2871
1378756 SHANKAR SHAKTI	Male	B. A./Arts/I	Fresh	80	35 55	440	211	2311	9747	2921
1381438 YOGESH KUMAR	Male	B. Sc./Science/I	Fresh	6	35	405	211	1167	9747	7866
1381655 RITU KUMARI SAHU	Female	B. Sc./Science/I	Fresh	6	202	630	CIT	1167	9747	1767
1381718 ROSHANI KUMARI	Female	B. Com./Commerce/I	Fresh	0	02	000		1162	1187	2941
1382202 SANJAY KUMAR PATEL	Male	B. A./Arts/I	Fresh	σ	2 2	7050	2 1	1167	1167	2941
1377192 AJAY KUMAR	Male	B. Sc./Science/I	Frech	0	3 2	190	CII	2311	2426	2921
1382477 INDUKANT KUMAR	Male	B. Sc /Science/T	Froch	0	6	495	115	2311	2426	2921
1382541 BHAGWATT KENWAT KENWAT	i	o coi cocuci a	II COL	6	SS	495	115	2311	2426	2921
TOTAL PERMANENT VEHAM	1	B. sc./sdence/I	Fresh	6	20	630	0	2311	2311	2941
1383879 ANITA YADAV	Female	B. A./Arts/I	Fresh	8	70	260	O	2311	2211	1000
1382329 KAMLESH BARETH	Male	B. Sc./Science/I	Fresh	6	55	495	115	2211	2000	20/1
1388960 RAVI KUMAR	Male	B. Com./Commerce/I	Fresh	0	55	405	115	1107	2420	1767
1389066 KESHAV PRASAD SAHU	Male	B. Com./Commerce/I	Fresh	6	3 55	495	115	1162	9747	.2921
1389111 MADHU KUMARI	Female	B. Sc./Science/I	Fresh	6	70	089	CIT	11167	9747	2921
1389300 KARTIKEY KUMAR	Male	B. A./Arts/I	Fresh	6	25	495	115	7311	2426	2941
1389656 PARMESHWAR KUMAR	Male	B. Sc./Science/I	Fresh	6	4 55	405	21.5	1107	0747	1767
	A THE REST OF THE PARTY OF THE				200	200	211	1107	7470	1767

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ...as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. ..Out of which Rs.....as maintenance allowance and Rs. ... serial no. 1 to I do here by sanctioning a sum of Rs.

Place : Date:

Page 3/6

DISH, - KORBA (C. G.) Gov. College, Barpa PRINCIPAL

GOWTE COLDECCE, BARPAL MSTT-KORBA (C.G.,

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

(Signature Region Of the Institution)

ant of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category:

Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: N/7/1073/3/10/80583

Sanction Date: 01/01/2018

Applications Type: Fresh

pplication ID Student Name	Gender	Course			阿拉斯拉拉·斯拉	一般の大学の大学の大学の大学の大学の大学の大学の大学の大学の大学の大学の大学の大学の	Bath Bath and Bath Bath Bath	Rose Industrial	William Strain and Strain	Elektrichtsothaleitates 2
			~#: 	Month	Mark	15/29AY	Par Hammi	aau lamo	local ree	roral Amount
1390673 SANTOSHI KUMARI	Female	B. Com./Commerce/I	Fresh	6	70	630	0	2311	2311	2941
1390875 BHARTI KUMARI	Female	B. Com./Commerce/I	Fresh	6	70	630	0	2311	2311	2941
1391041 ISHWARI KUMARI KASHYAP	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	2311	2941
1391226 ROSHNI KUMARI	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	2311	2941
1384033 AMIT KUMAR	Male	B. Sc./Science/I	Fresh	6	55		115	2311	2426	2921
1393222 FIRTEEN BAI	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2941
1391688 Divya KUMARI	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	2311	2941
1393422 LALIT MONGARE	Male	B. Sc./Science/I	Fresh	6	55	495	115	2311	2426	2921
1394410 SATYENDRA KUMAR	Male	B. A./Arts/I	Fresh	8	55	440	115	2311	2426	2866
1396781 VINOD DAS	Male	M. Com./Commerce/I	Fresh	6	105	945	135	3001	3136	4081
1399622 GEETANJALI KUMARI	Female	B. Com./Commerce/I	Fresh	6	70	630	0	2311	2311	2941
1400188 SANT KUMAR	Male	B. Sc./Science/I	Fresh	6	55	495	115	2311	2426	2921
1400488 PRABHAT KUMAR KASHYAP	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1400636 PRAHLAD KUMAR	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1400772 FANINDRA KUMAR	Male	B. Sc./Science/I	Fresh	6	55	495	115	2311	2426	€ 2921
1401274 URVASHI KUMARI	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2941
1401778 SUNITA KUMARI	Female	B. A./Arts/I	Fresh	8	70	260	0	2311	2311	2871
1405325 RAVI SMANKAR	Male	B. Com./Commerce/I	Fresh	6	55	495	115	2311	2426	2921

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ...as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.as maintenance allowance and Rs.Out of which Rs..... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Place: Date:

Govt. College, Barpa

PRINCIPAL

Distt. - KORBA (C. G.

Glanture & Real of Haad of the Institution)
GNAME (COLLA ESES) BARPAL.

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

ent of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

OBC Category: Institute Name: GOVT. COLLEGE BARPALI

Academic Year: 2017 - 18

Government of Chhattisgarh State:

Sanction Number: N/7/1073/3/10/80583

Sanction Date: 01/01/2018

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence T Allowance	uition Fee	Other Fee	Total Fee	Total Amount
1398818	1398818 PRATIBHA KUMARI	Female	B. Sc./Science/I	Fresh	6	70	920	0	2311	2311	2941
1406447	1406447 CHARAN DAS	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1406379	1406379 KRITI KUMARI PATEL	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2941
1406533	1406533 SHUBHAM KUMAR	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1405982	1405982 YASHWANTIRANI KUMARI	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2941
1410664	1410664 GUNJA KUMARI	Female	B. A./Arts/I	Fresh	6	70	630	0	2311	2311	2941
1411138	1411138 SUSHIL KUMAR	Male	B. Sc./Science/I	Fresh	6	55	495	115	2311	2426	2921
1418209	1418209 TARUN NIRMALKAR	Male	B. Sc./Science/I	Fresh	8	55	440	115	2311	2426	2866
1409470	1409470 AMRIKA KUMARI	Female	B. A./Arts/I	Fresh	6	70	930	0	2311	2311	2941
1418318	1418318 ROSHAN YADAV	Male	B. Sc./Science/I	Fresh	8	55	440	115	2311	2426	2866
1418793	1418793 AJAY KUMAR YADAV	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1423865	1423865 PRITI KUMARI	Female	B. A./Arts/I	Fresh	8	70	260	0	2311	2311	2871
1424152	1424152 PRIYANKA KUMARI	Female	B. Sc./Science/I	Fresh	7	70	490	0	2311	2311	, 2801
1425196	1425196 RAMGOPAL PATEL	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1419673	1419673 Suraj Kumar	Male	B. Com./Commerce/I	Fresh	6	55	495	115	2311	2426	1 2921
1425943	1425943 PALESHWAR DAS	Male	B. A./Arts/I	Fresh	6	55	495	115	2311	2426	2921
1429006	1429006 SARITA KUMARI	Female	B. Sc./Science/I	Fresh	6	70	630	0	2311	2311	2941
1441382	1441382 GAYATRI KUMARI	Female	B. A./Arts/I	Fresh	6	70	089	0	2311	2311	2941

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ..as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the pariod it is detected.as maintenance allowance and Rs.Out of which Rs..... serial no. 1 to I do here by sanctioning a sum of Rs. ...

Date : Place:

GOVP COLLECE BARPALI

(Signat Will Compathead of the Institution)

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018 DISTT-KORBA (C.G.

PRINCIPAL

ent of Chhattisgarh

Post Matric OBC Scholarship Scholarship Scheme:

OBC Category:

GOVT. COLLEGE BARPALI Institute Name:

Academic Year: 2017 - 18

34

Government of Chhattisgarh State:

Sanction Number: N/7/1073/3/10/80583

Sanction Date: 01/01/2018

Application ID Student Name	選を表する。 電子の表する	THE REPORT OF THE PROPERTY OF THE PARTY OF T	CONTROL MICHIGANIA CONTROL CON				Applications	Applications Type: Fresh		
	ionii an	Course	Type	No. of	Rate Mainte	enence Tu	lition Fee	Other Fee		20年の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の
1441192 VIJAY YADAV	Male	B. Sc./Science/T	Crock	House and the second	Allov	vance				oldi Amount
1443127 RAT KIIMAD		· francisco	Hesil	6	55	495	115		2010	NATIONAL PROPERTY AND ADDRESS OF
ANI-ION DO	Male	M. Com./Commerce/I	Fresh	0	10,		-		9747	2921
1446111 JYOTI RAJAK	Famala	0,000			105	945	135		3136	4001
the second or an age of the second or an address of the second of the se	cilidic	b. com./commerce/I	Fresh	0	02	000	-	1	2000	1904
1455/21 Bhagwat Prasad Patel	Male	B Cr /Crience/T	The state of the s	-	2	630	0		2311	7941
		or, out odelice/1	Fresh	7	55	385	115	2211	JUNE	
				- The state of the		-	244		9747	2811
					lotal:	52070	5560		222562	274622

274633

222563

217003

5560

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. "Out of which Rs.....as maintenance allowance and Rs. ...

Place Date

Govt. College, Barpali Page 6/6 Distt. - KORBA (C. G.)

RINCIPAL

This Sanction is generated by Scholarship Portal. Printed on 1/1/2018

A INSTT-KORBA (C.G.)

(Signature & Sestibit Head of the Institution)